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T.Y. B. Com.

361 : BUSINESS REGULATORY FRAMEWORK - II
(2019 Pattern) (Semester - VI) (CBCS)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Que. No.1 and Que. No.6 are compulsory.
2) Solve any 3 (Three) questions from remaining Q.No. 2,3,4,&5.

P5916

Q1) a) Fill in the blanks (Any 5 out of 6) [5]

i) ______ is the Person who makes the Bill of Exchange.

[Payee, Drawee, Drawer]

ii) Suspension of Digital signature certificate under section ________

[Section - 35, Section - 36, Section - 37]

iii) Consumer protection Act, 2019 came into force on ________

[20 July 2020, 1 April 2020, 31 December 2020]

iv) Copyright for photography is _______ years.

[40, 50, 60]

v) Procedure of District consumer Forum under consumer protection
Act is carried as per section _________.

[35, 37, 38]

vi) A _______ is a bill of exchange drawn on a specified banker payable
on demand.

[Promisoory Note, Cheque, Bills of Exchange]

[Total No. of Pages : 4
SEAT No. :

P.T.O.
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b) Match the pair [5]

Group - A Group - B

i) Cheque a) Global Market

ii) E-Commerce b) Crossing

iii) Consumer Protection Act c) 1995

iv) Invention d 2019

v) World Trade organisation e) New and useful process

Q2) What is an Endorsement? Explain the different kinds of Endorsements. [15]

Q3) What is an E-commerce? Explain in detail the significance of  E-commerce.[15]

Q4) Who is not a consumer? Explain the various rights of consumer under consumer
protection Act. [15]

Q5) What is patent? Write in detail the rights and obligations of patentee. [15]

Q6) Write Short Notes (Any 03) [15]

a) Essentials of Bills of Exchange.

b) E-contracts.

c) National Commission.

d) Kinds of Trademark.

e) Bank’s Right to dishonour the cheque of Accountholder.


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Total No. of Questions : 6]

[6142]-601
T.Y. B. Com.

361 : BUSINESS REGULATORY FRAMEWORK - II
(2019 Pattern) (Semester - VI) (CBCS)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© Amho.

2) àíZ H«$. 2, 3, 4 Am{U 5 ‘Yrb H$moUVohr 3 àíZ gmoS>dmdoV.

P5916

à.à.à.à.à.1) A) Jmiboë¶m OmJm ^am. (6 n¡H$s H$moUË¶mhr 5) [5]
i) hþ§S>r H$mT>Umar ì¶º$s åhUOo ................. hmo¶.

(AmXmVm, AmXo{eVr, AmXoeH$)
ii) {S>{OQ>b ghr à‘mUnÌ ñW{JV H$aUo H$b‘ ..............

(H$b‘ 35, H$b‘ 36, H$b‘ 37)
iii) J«mhH$ g§ajU H$m¶Xm, 2019 ..................... amoOr bmJw Pmbm.

(20 Owb¡ 2020, 1 E{àb 2020, 31 {S>g|~a 2020)
iv) ’$moQ>moJ«m’$sgmR>r H$m°nramB©Q> (boIm{YH$ma) hm .................... df} AgVmo.

(40, 50, 60)
v) {Oëhm J«mhH$ ‘§MmMr H$m¶©nÕVr J«mhH$ g§ajU H$m¶XçmÀ¶m H$b‘ ............... Zwgma

MmbVo.
(35, 37, 38)

vi) ‘mJUr H$aVmM Á¶mMo n¡go Xçmdo bmJVmV Aer {d{eï> ~±Ho$da H$mT>bobr hþ§S>r åhUOo
................. hmo¶.
(dMZ{MR>²R>r, YZmXoe, hþ§S>r)

~) ¶mo½¶ OmoS>çm bmdm. [5]
‘A’ JQ> ‘~’ JQ>

i) YZmXoe A) OmJ{VH$ ~mOmanoR>
ii) B©-H$m°‘g© ~) aoImH§$Z
iii) J«mhH$ g§ajU H$m¶Xm H$) 1995
iv) emoY S>) 2019
v) OmJ{VH$ ì¶mnma g§KQ>Zm B) Z{dZ Am{U Cn¶moJr nÕVr
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à.à.à.à.à.2) n¥ð>m§H$Z åhUOo H$m¶? n¥ð>m§H$ZmMo {d{dY àH$ma dU©Z H$am. [15]

à.à.à.à.à.3) B©-H$m°‘g© åhUOo H$m¶? B©-H$m°‘g© Mo ‘hËd g{dñVa dU©Z H$am. [15]

à.à.à.à.à.4) H$moU J«mhH$ Zmhr? J«mhH$ g§ajU H$m¶XçmÀ¶m A§VJ©V J«mhH$mMo {d{dY A{YH$ma H$moUVo? [15]

à.à.à.à.à.5) noQ>§Q> åhUOo H$m¶? noQ>§Q>rMo A{YH$ma d O~m~Xmar g{dñVa {bhm. [15]

à.à.à.à.à.6) Q>rn {bhm. (H$moUVohr 3) [15]
A) hþ§S>rMo Amdí¶H$ KQ>H$
~) B©-H$ama
H$) amï´>r¶ Am¶moJ
S>) ì¶mnmar {MÝhmMo {d{dY àH$ma
B) ImVoXmamMm YZmXoe A‘mÝ¶ H$aÊ¶mMm ~±Ho$Mm A{YH$ma





Q1) A) Fill in the blank with the most appropriate alternative (Any five
out of 7) : [5]
i) __________ is for the purpose of construction of building for

the business of the Society.

a) Education Fund b) Building Fund

c) Reserve Fund d) Loans and Advances

ii) The primary objective in the formation of Co-operative Credit
Society is __________.

a) To get maximum profit b) To maintain stock register

c) A & C d) Promoting of saving

iii) Branch account is ___________ account.

a) Real b) Personal

c) Nominal d) None of the above

iv) Branch which does not maintain its own set of books is
__________.

a) Dependent branch b) Independent branch

c) Foreign branch d) Local branch

v) Corporate Social Responsibility (CSR) field is closely linked with
that of ___________.

a) Sustainable revolution

b) Sustainable improvement

c) Sustainable development

d) Sustainable living

Total No. of Questions : 4]
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vi) Financial Derivative includes ____________.

a) Stock b) Futures

c) Bonds d) All of the above

vii) The ideal level of Current Ratio is __________.

a) 1 : 1 b) 2 : 1

c) 2 : 2 d) 1 : 2

B) True of False (Any five out of 7) : [5]

i) Co-operative Societies are based on the principle of co-operation.

ii) Dividend received on shares is comes to the income side of profit
and loss account.

iii) A foreign branch is nothing but an independent branch, located
in a foreign country.

iv) Branch stock account is a nominal account in nature and is
prepared in the Branch Books.

v) Forensic accounting is very useful to insurance industry.

vi) The amount paid for an option is the premium.

vii) Net Profit Ratio shows the relation between net profit and gross
profit.

C) Match the following : [5]

Column A Column B

i) Non Statutory Registers a) Various Comparisons

ii) Branch Accounting b) Improves the Image of
Business

iii) Forensic Accounting c) Solve Financial Crimes

iv) Corporate Social d) Control the Branches

Responsibility

v) Ratio Analysis e) Notice Book

D) Write a short note (Any three) : [15]

i) Features of Cooperative Societies

ii) Benefits of Forensic Accounting

iii) Objective of Branch Accounting

iv) Accounting of Derivative Accounting

v) Advantages of Ratio Analysis

vi) Artificial Intelligence in Accounting
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Q2) From the following Trial Balance of Krushna Consumer Co-operative
Society Ltd. Parbhani as on 31/03/2023. Prepare Trading Account, Profit
and Loss Account for the year ended 31/03/2023 and Balance Sheet as on
that date. [20]
Particulars Debit Amount Rs. Credit Amount Rs.
Opening stock of Goods 12,000 --

Purchases 3,27,000 --

Carriage Inward 4,000 --

Sales -- 3,44,000

Sale of empty bags -- 14,000

Return outward -- 5,000

Salaries 12,000 --

Interest on Govt. Loan 720 --

General Expenses 150 --

Printing & Stationery 1,420 --

Cash in hand 4,840 --

Cash at bank 6,000 --

National Saving Certificate 500 --

Electricity 320 --

Advances 850 --

Debtors 5,600 --

Dead Stock 800 --

Reserve fund -- 10,000

Government Loans -- 6,000

Educational fund -- 1,000

Building 60,000 --

Share Capital -- 50,000

Creditors -- 6,200

Total 4,36,200 4,36,200
Adjustments :
a) Closing Stock was valued at Rs. 18,000.

b) Audit fees payable Rs. 500.

c) Depreciation @ 10% on Dead Stock and 5% on Building.

d) Make provision for bad debts Rs. 200.

e) Authorised Capital is Rs. 1,00,000 divided into shares of Rs. 20 each.
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Q3) From the following Trading Account, Profit & Loss Account and Balance
Sheet of RR Ltd on 31st March 2023. [20]
Trading and Profit & Loss Account for the year ended 31st March 2023
Particulars Amount Rs. Particulars Amount Rs.
To Opening Stock 10,00,000 By Sales 90,00,000

To Purchases 60,00,000 By Closing Stock 12,00,000

To Carriage inward 2,00,000

To Gross Profit 30,00,000

Total 1,02,00,000 Total 1,02,00,000
To Administrative By Gross Profit 30,00,000

Expenses 14,00,000 By Other

Miscellaneous

To Selling & Distribution Expenses 1,00,000

Expenses 2,50,000

To Non-Operating

Expenses 50,000

To Net Profit 14,00,000

Total 31,00,000 Total 31,00,000
Balance Sheet as on 31st March 2023

Particulars Amount Rs. Particulars Amount Rs.
Share Capital 20,00,000 Land & Building 10,00,000

Reserve & Surplus 17,00,000 Plant & Machinery 12,00,000

Sundry Creditors 10,00,000 Stock 12,00,000

Provision for Taxation 2,00,000 Debtors 10,00,000

Bills Payable 3,00,000 Bills Receivable 2,00,000

Cash at Bank 6,00,000

Total 52,00,000 Total 52,00,000
You are calculate the following ratios :

a) Current Ratio

b) Liquid Ratio

c) Operating Ratio

d) Gross Profit Ratio

e) Net Profit Ratio

f) Debtors Turnover Ratio
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Q4) Rohi Corporation of Dhule has a branch at Solapur. The head office invoice
goods to branch at cost plus 1/3. The branch transfers all cash received to
Head Office daily and all branch expenses are paid from Head Office. The
information available as follows : [20]
Particulars Amount Rs.

Branch Stock at invoice price (1.4.2022) 80,000

Branch Debtors (1.4.2022) 20,000

Petty Cash (1.4.2022) 2,000

Cash Sales 30,000

Discount allowed to Branch Debtors 4,000

Bad Debts written off 3,000

Return from customer 1,500

Collection from Debtors 1,20,000

Goods sent to Branch (Invoice Price) 2,00,000

Goods return to H.O. (Invoice Price) 16,000

Credit Sales 1,50,000

Closing Stock at invoice price (31.3.2023) 1,00,000

Cheques received from H.O. for expenses

Salaries 12,000

Rent & Taxes 6,000

Advertising 5,000

Petty Cash 3,000 26,000

Actual Petty Expenses incurred by Branch 4,000

You are to prepare following branch accounts for the year ending on
31/3/2023.

a) Branch Stock A/c,

b) Branch Debtors A/c,

c) Branch Petty Cash A/c.

d) Branch Adjustment A/c.

e) Brach Expenses A/c.

f) Branch Profit and Loss A/c.


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BUSINESS ECONOMICS
363 : Indian and Global Economic Development - II

(CBCS 2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and question No. 6 are compulsory.
2) Solve any three questions from the question No.2, 3, 4, and 5.
3) Figures to the right indicate full marks.

P5918 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blanks: (Any 5) [5×1=5]
i) The Human development Index is released by _______

a) World bank b) I.M.F
c) United Nations d) U.S.A

ii) F.D.I. Stands for _______
a) Foreign direct investment
b) Foreign domestic investment
c) Foreign direct intervention
d) Foreign direct intermediation

iii) _______ is called the engine of economic development.
a) Domestic trade b) National Income
c) National trade d) International trade

iv) SAARC headquarter is located as_______
a) Kathmandu b) Manila
c) New Delhi d) Mumbai

v) The government’s policy of import-export is known as ______
a) Financial policy b) Monetary policy
c) Foreign trade policy d) Fiscal policy

vi) India is the founder member of ______
a) E.U. b) U.S.A.
c) OPEC d) BRICS

P.T.O.
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B) Match the following. [5]
Group A Group B

i) W.T.O a) Mehboob-ul-Huq

ii) SAARC b) Trade of Visible goods

iii) G.D.I. c) 1995

iv) Balance of trade d) Group of Eight Countries

v) H.D.I e) Gender Development Index.

Q2) Explain the role of human resources in economic development. [15]

Q3) Explain in details the foreign capital investment in India since 2001 [15]

Q4) Explain the role of foreign trade in economic development. [15]

Q5) Explain the function of world trade organization. [15]

Q6) Write short notes. (any three) [15]

a) Human poverty Index

b) Balance of payment.

c) SAARC

d) EXIM policy.

e) Global Hunger Index(G.H.I)


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BUSINESS ECONOMICS
363 : Indian and Global Economic Development - II

(CBCS 2019 Pattern) (Semester - VI)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$. 1 Am{U 6 A{Zdm¶© AmhoV.

2) àíZ H«$. 2, 3, 4 Am{U 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P5918

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ‘mZd {dH$mg {ZX}em§H$ ............. Ûmao à{gÕ Ho$bm OmVmo.

A) OmJ{VH$ ~±H$ ~) Am¶.E‘.E’$.

H$) g§¶wº$ amï´> g§KQ>Zm S>) ¶w.Eg.E.

ii) E’$.S>r.Am¶. (F.D.I.) Mm AW© ............

A) naH$s¶ àË¶j J§wVdUwH$ ~) naH$s¶ Xoem§VJªV Jw§VdUwH$

H$) naH$s¶ WoQ> hñVjon S>) naH$s¶ WoQ> ‘Ü¶ñWr

iii) ........... ì¶mnmambm Am{W©H$ {dH$mgmMo B§{OZ åhUVmV.

A) Xoem§VJ©V ì¶mnma ~) amï´>r¶ CËnÞ

H$) amï´>r¶ ì¶mnma S>) Am§Vaamï´>r¶ ì¶mnma

iv) gmH©$ (SAARC) Mo ‘w»¶mb¶ ................ ¶oWo Amho.

A) H$mR>‘m§Sw> ~) ‘{Zbm

H$) Zdr {X„r S>) ‘w§~B©

v) Am¶mV-{Z¶m©Vr~X²XbÀ¶m gaH$maÀ¶m YmoaUmbm ................. åhUVmV.

A) {d{Îm¶ YmoaU ~) ‘m¡{ÐH$ YmoaU

H$) naH$s¶ ì¶mnma YmoaU S>) amOH$mofr¶ YmoaU

vi) ^maV hm ............... Mm g§ñWmnH$ gXñ¶ Amho.

A) B.¶y. ~) ¶w.Eg.E.

H$) AmonoH$ S>) {~«³g
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~) Imbrb OmoS>çm bmdm. [5]

JQ> A JQ> ~

i) S>ãë¶y.Q>r.Amo. A) ‘ho~w~-Cb-hH$

ii) gmH©$ (SAARC) ~) Ñí¶ dñVw§Mm ì¶mnma

iii) Or.S>r.Am¶ (G.D.I.) H$) 1995

iv) ì¶mnma g‘Vmob S>) 8 Xoem§Mm g‘wh

v) EM.S>r.Am¶. (H.D.I.) B) qbJ {dH$mg {ZX}em§H$

à.à.à.à.à.2) Am{W©H$ {dH$mgmV ‘mZdr g§gmYZmMr ŷ{‘H$m ñnï> H$am. [15]

à.à.à.à.à.3) ^maVmVrb 2001 nmgwZMr naH$s¶ ^m§S>db Jw§VdUwH$ g{dñVa ñnï> H$am. [15]

à.à.à.à.à.4) Am{W©H$ {dH$mgmVrb naH$s¶ ì¶mnmamMr ŷ{‘H$m ñnï> H$am. [15]

à.à.à.à.à.5) OmJ{VH$ ì¶mnma g§KQ>ZoMo H$m¶} ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) ‘mZdr Xm[aÐç {ZX}em§H$

~) ì¶dhmaVmob

H$) gmH©$ (SAARC)

S>) E³Pr‘ nm°{bgr (EXIM Policy)

B) OmJ{VH$ ŷH$ {ZX}em§H$ (G.H.I.)


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363 : International Economics - II

(CBCS 2019 Pattern) (Semester - VI)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and question No. 6 are compulsory.
2) Solve any three questions from the question No.2 to question No.5
3) Figures to the right side indicate full marks.

P5919 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blanks: (Any 5) [5×1=5]
i) To remove the imbalance in the balance of payment_______

instruments have to used.
a) Monetary & Non Monetary Measures
b) Capital & Non capital
c) Monetary & fiscal
d) Fiscal & social

ii) The Balance of Payment when considered from a broad point of
view is the balance of payment is always________
a) In an unbalance stage b) Balance stage
c) Stable stage d) Unstable stage

iii) The market where the exchange of currencies between two countries
is ________
a) Money Market b) Capital Market
c) Bond Market d) Foreign exchange Market

iv) ______ of the following is a problem of foreign capital
a) Economic exploitation b) Problems of Unemployment
c) Oppressive conditions d) All of the above

v) The international monetary fund was established in _________year.
a) 1940 b) 1942
c) 1946 d) 1947

vi) _______ is the main objectives of the world Bank.
a) Reconstruction
b) Loans to correct imbalance
c) Promotion of global trade
d) Exchange control

P.T.O.



2[6142]-604

B) Match the following. [5]
Group A Group B

i) Balance of payment a) Fixed & Flexible
ii) Exchange Rate b) Current & Capital Account
iii) Purchasing power theory c) SAARC
iv) Rigional organization d) 1995
v) World trade organization e) Gustar Kasel.

Q2) What is an Imbalance of Balance of payment? Explain the causes of imbalance
in Balance of payment? [15]

Q3) What is foreign Exchange Market? Explain the functions of Foreign exchange
market. [15]

Q4) What is multinational corporations? Explain the role of multinational corporation.
[15]

Q5) Explain in detail the organization and functions of the international monetary
fund. [15]

Q6) Write short notes. (Any 3) [15]

a) Current and Capital Account of Balance of Payment.

b) URO Doller Market.

c) Foreign Direct Investment.

d) World Bank.

e) BRICS


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[6142]-604
T.Y.B.Com.

ECONOMICS
363 : International Economics - II

(CBCS 2019 Pattern) (Semester - VI)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$. 1 Am{U 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) àíZ H«$. 2, 3, 4 Am{U 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P5919

à.à.à.à.à.1) A) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) ì¶dhmaVmobmVrb Ag‘Vmob Xÿa H$aÊ¶mgmR>r ............... gmYZm§Mm dmna H$amdm bmJVmo.

A) MbZr d {~Ja MbZr ~) ^m§S>dbr d {~Ja ^m§S>dbr
H$) MbZr d amOH$mofr¶ S>) amOH$mofr¶ d gm‘m{OH$

ii) ì¶dhma VmobmMm ì¶mnH$ Ñï>rH$moZmVyZ {dMma Ho$bm AgVm ì¶dhmaVmob hm Zoh‘r ..........
AgVmo.
A) Ag§VwbrV AmdñWoV ~) g§VwbrV AmdñWoV
H$) pñWa AmdñWoV S>) ApñWa AmdñWoV

iii) XmoZ Xoem§Vrb MbZm§Mr AmXbm~Xb H$aÊ¶mMr ì¶dñWm AgUmam ~mOma åhUOo ..........
A) ZmUo ~mOma ~) ^m§S>db ~mOma
H$) amoIo ~mOma S>) naH$s¶ {d{Z‘¶ ~mOma

iv) nwT>rbn¡H$s ............. hr naH$s¶ ^m§S>dbmMr g‘ñ¶m Amho.
A) Am{W©H$ emofU ~) ~oH$marMr g‘ñ¶m
H$) OmMH$ AQ>r S>) darb gd©

v) Am§Vaamï´>r¶ ZmUo{ZYr Mr ñWmnZm ............. ¶m dfu H$aÊ¶mV Ambr.
A) 1940 ~) 1942
H$) 1946 S>) 1947

vi) ............. ho OmJ{VH$ ~±Ho$Mo ‘w»¶ CX²Xrð> Amho.
A) nwZ~mªYZr ~) Xo¶H$ {e„H$ ‘Ü¶o ¶mo½¶ Ag§VwbZmgmR>r H$O©
H$) OmJ{VH$ ì¶mnmambm àmoËgmhZ S>) {d{Z‘¶ {Z¶§ÌU
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~) Imbrb OmoS>çm bmdm. [5]

A JQ> ~ JQ>

i) ì¶dhmaVmob A) pñWa Am{U bd{MH$

ii) {d{Z‘¶ Xa ~) Mmbw Am{U ^m§S>dbr ImVo

iii) H«$¶eº$s {gÕm§V H$) gmH©$

iv) àmXo{eH$ g§KQ>Zm S>) 1995

v) OmJ{VH$ ì¶mnma g§KQ>Zm B) JwñVmd H°$gb

à.à.à.à.à.2) ì¶dhma VmobmVrb Ag‘Vmob åhUOo H$m¶? ì¶dhma VmobmVrb Ag‘VmobmMr H$maUo g{dñVa ñnï> H$am.
[15]

à.à.à.à.à.3) naH$s¶ {d{Z‘¶ ~mOma åhUOo H$m¶? naH$s¶ {d{Z‘¶ ~mOmamMr H$m¶} g{dñVa ñnï> H$am. [15]

à.à.à.à.à.4) ~hþamï´>r¶ ‘hm‘§S>i åhUOo H$m¶? ~hþamï´>r¶ ‘hm‘§S>imMr ŷ{‘H$m g{dñVa ñnï> H$am. [15]

à.à.à.à.à.5) Am§Vaamï´>r¶ ZmUo{ZYrMo g§KQ>Z Am{U H$m¶} g{dñVa ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) ì¶dhma VmobmMo Mmbw d ^m§S>dbr ImVo

~) ¶wamo S>m°ba ~mOma

H$) WoQ> {dXoer Jw§VdUyH$

S>) OmJ{VH$ ~±H$

B) {~«³g





Q1) a) Define the following terms (Any Five) : [10]

i) Assessee

ii) Assessment Year

iii) Agricultural Income

iv) Exempted Income

v) Previous Year

vi) Perquisites

b) Write Short Notes (Any Two) : [10]

i) Income

ii) Tax Deducted at source

iii) Advanced Tax

Q2) Solve Problems (Any 2) : [14]

a) Mr. Sampatrao Palghadmal, Songaon provides the following
information : [7]

i) Salary Rs. 20,000 p.m.

ii) Bonus Rs. 12,000 p.a.

iii) Education Allowance (2 Children) Rs. 580 p.m. per child

iv) Hostel Allowance (2 Children) Rs. 500 p.m. per child

Total No. of Questions : 3]
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v) Commission Rs. 50,000 p.a.
vi) Tiffin Allowance Rs. 1,000 p.m.
vii) House Rent Allowance is Rs. 10,000 p.m. (Rent Paid by him

Rs. 1,000 p.m.)
viii) He has been provided a 1600 cc car and driver for private and

official purposes. Expenses are borne by the employer.
ix) He has paid professional tax of Rs. 2,500 p.a. Compute his net

taxable salary income for the A.Y. 2024-25 under the old regime.
b) Compute income from the House property of Mr. Mohan Sansare,

Devlali Pravara, for the A.Y. 2024-25 from the following particulars
under the old regime. [7]

Particulars Rs.
Municipal Value 3,00,000
Fair Rent 2,20,000
Standard Rent 2,00,000
Annual Rent 2,50,000
Unrealised Rent 10,000
Vacancy Period (3 months)
Municipal Tax 5,000
Interest on Loan 40,000

c) Following is the Profit and Loss A/c for the Business of Mr. Chhaburao
Shinde, Bodhegaon, for the financial year ended on 31st March 2024.

[7]
Profit and Loss A/c

For the year ended on 31st March 2024
Particulars Rs. Particulars Rs.
To Salary 1,15,000 By Gross Profit 3,50,000
To Interest on Loan 50,250 By Interest on 6,000

Bank Deposit
To Advertisement 6,000 By Sundry Receipt 18,000
To RDD 6,000 By Gift from mother 60,000
To Fire Insurance 5,000
To Wealth Tax 25,000
To Office Expenses 6,000
To Income tax 6,000
provision
To Depreciation 40,000
To Net Profit 1,74,750
Total 4,34,000 Total 4,34,000
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Other Information :

i) A bank Loan is taken for business purposes.

ii) Depreciation is allowed as per the Income Tax Rule is Rs. 56,250/-

iii) Advertisement includes Rs. 3,500/- as expenses for selling
household purpose

iv) Salary includes Rs. 10,500/- paid for the domestic purpose you
are required to compute Taxable income from the business for
A.Y. 2024-2025 as per the old regime.

Q3) Mr.. Bhaskar Shelke has given the following particulars of his income and
savings for the financial year ending on 31.3.2024. [16]

a) Gross Salary Rs. 1,20,000

b) Profit Business Rs. 1,30,000

c) Interest on Government Securities Rs. 3,400

d) Income from House Property Rs. 14,500

e) He Paid Professional Tax Rs. 2,500

f) Income Tax Paid Rs. 35,000

g) He paid Rs. 9280 for LIC premium. He deposited in PPF Rs. 8,000.
He invested Rs. 3,500 in NSC and made F.D for 5 years in State Bank
of India Rs. 35,000/-

Compute his taxable income for A.Y. 2024-25 and Tax Liability under

i) Taxation under old regime

ii) Taxation under New Regime





[6142]-605 4

Total No. of Questions : 3]

[6142]-605
T.Y. B.Com.

364 : A§Ho$jU Am{U Am`H$a - II
(2019 Pattern) (CBCS) (Semester - VI)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 50
gyMZm :

1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ àýmMo nyU© JwU Xe©{dVmV.

P-8297

P.T.O.

àíZ àíZ àíZ àíZ àíZ 1) A) Imbrb g§H$ënZm ñnï> H$am. (H$moUVohr nm±M) [10]

i) H$anmÌ ì`º$s

ii) H$a{ZYm©aU df©

iii) H¥$fr CËnÞ

iv) H$a_wº$ CËnÞ

v) _mJrb df©

vi) gmò r d gw{dYm

~) WmoS>Š`mV Q>rnm {bhm (H$moUË`mhr XmoZ) … [10]

i) CËnÞ

ii) CJ_ñWmZ ómoVmda H$a H$nmV

iii) AmJmD$ H$a

àíZ àíZ àíZ àíZ àíZ 2) CXmhaUo gmoS>dm (H$moUVrhr XmoZ) … [14]

A) lr g§nVamd nmS>Ki_b gmoZJmd Imbrb _m{hVr XoVmV … [7]

i) nJma ê$ 20,000 Xa_hm

ii) ~moZg ê$ 12,000 dm{f©H$

iii) {ejU ^Îmm (2 _wio) ê$ 580 Xa_hm, àVr _wbmgmR>r

iv) dgVrJ¥h ^Îmm (2 _wio) ê$ 500 Xa_hm, àVr _wbmgmR>r

v) H${_eZ ê$ 50,000 dm{f©H$
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vi) {Q>\$sZ ^Îmm ê$ 1,000 Xa_hm
vii) Ka^mS>o ^Îmm ê$ 10,000 Xa_hm (d Ë`mZo {Xbobo ^mS>o ê$ 1,000 Xa_hm)
viii) Ë`mbm ImOJr d H$m`m©b`rZ H$m_mgmR>r1600 B§YZj_VoMr JmS>r d MmbH$ XoÊ`mV

Ambobm Amho. Ë`mMm IM© {Z`moŠË`mÛmao Ho$bm OmVmo.
ix) Ë`mZo ê$ 2,500/- dm{f©H$ Agm ì`dgm` H$a ^abobm Amho. H$a{ZYm©aU df©

2024-25 gmR>r OwÝ`m H$a {Z`_mà_mUo Ë`mÀ`m {Zìdi H$anmÌ doVZ CËnÞmMr
JUZm H$am.

~) lr _mohZ g§gmao, Xodimbr àdam, `m§À`m KamÀ`m _mb_ÎmogmR>r H$a{ZYm©aU df©
2024-25 gmR>r OwÝ`m H$a àUmbr A§VJ©V Imbrb Vnerbmdê$Z {_iH$V _moOm [7]

Vnerb ê$n`o
ZJanm{bH$m _yë` 3,00,000

dmOdr ^mS>o 2,20,000

_mZH$ ^mS>o 2,00,000

dm{f©H$ ^mS>o 2,50,000

Z {_imbobo ^mS>o 10,000

[aH$må`m OmJoMm H$mbmdYr (3 _{hZo)
_hmZJanm{bH$m H$a 5,000

H$Om©darb ì`mO 40,000

H$) 31 _mM© 2024 amoOr g§nboë`m Am{W©H$ dfm©gmR>r  lr. N>~wamd qeXo, ~moYoJmd `m§À`m
ì`dgm`mMm Z\$m Am{U VmoQ>m ImVo Imbrbà_mUo Amho … [7]

Z\$m Am{U VmoQ>m ImVo
31 _mM© 2024

Vnerb ê$n`o Vnerb ê$n`o
nJma 1,15,000 EHy$U Z\$m 3,50,000

H$Om©darb ì`mO 50,250 ~±H$ R>odrdarb ì`mO 6,000

Om{hamV 6,000 BVa Om_ 18,000

Ama S>r.S>r. 6,000 AmB©H$Sy>Z ôQ>dñVy 60,000

AmJ {d_m 5,000

g§ßnVr H$a 25,000

H$m`m©ë`rZ IM© 6,000

Am`H$a VaVyX 6,000

Kgmam 40,000

{Zìdi Z\$m 1,74,750

EHy$U 4,34,000 EHy$U 4,34,000
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BVa _m{hVr …

i) ì`dgm`mgmR>r ~±Ho$Mo H$O© KoVbo OmVo.

ii) Am`H$a H$m`ÚmZwgma ê$ 56250/- Kgmam g§_V Amho.

iii) Om{hamV IMm©V KaJwVr \${Z©MaÀ`m {dH«$sgmR>r IM© Ho$bobo ê$ 3500/-  g_m{dð>
AmhoV.

iv) nJmam_Ü`o KaJwVr IMm©gmR>r {Xbobo ê$ 10500/- g_m{dð> AmhoV OwÝ`m
H$aàUmbrA§VJ©V H$a{ZYm©aU df© 2024-2025 gmR>r ì`dgm`mVrb H$anmÌ CËnÞ
H$mT>m.

àíZ àíZ àíZ àíZ àíZ 3) lr ^mñH$a eoiHo$ `m§Zr 31.3.2024 amoOr g§nUmè`m Am{W©H$ dfm©gmR>r Ë`m§Mo CËnÞ Am{U
~MVrMo Imbrb Vnerb {Xbobo AmhoV. Ë`mdê$Z H$a{ZYm©aU df© 2024-25 gmR>r H$anmÌ
CËnÞ d H$aXò Vm OwÝ`m d Zì`m H$aàUmbr A§VJ©V _moOm. [16]

A) EHy$U nJma ê$ 1,20,000

~) ì`dgm`mVrb Z\$m ê$ 1,30,000

H$) gaH$mar {gŠ ẁ[aQ>rdarb ì`mO ê$ 3,400

S>) Ka _mb_ÎmoMo CËnÞ ê$ 14,500

B) Ë`mZo ì`mdgm{`H$ H$a ^abm ê$ 2,500

\$) Ë`mZo Am`H$a ^abm ê$ 35,000

`) Ë`mZo OrdZ{d_m hám ê$ 9280 ^abm Amho. VgoM ê$ 8,000. gmd©O{ZH$ ^{dî`{Zdm©h
{ZYr ^abm Amho. amï´>r` ~MV à_mUnÌm_Ü ò ê$ 3,500 Jw§Vdbo AmhoV d ñQ>oQ> ~±H$ Am°\$
B§{S>`m_Ü ò 5 dfm©gmR>r ê$ 35,000 Mr n¸$s R>od R>odbr Amho.





Q1) A) Fill in the blank with the most appropriate alternative (any Five) : [5]

i) Marketing is a process which aims at ____________.

a) Production

b) Profit-making

c) The satisfaction of customer needs

ii) __________ is the father of Modern Marketing.

a) Abraham Maslow

b) Philip Kotler

c) Peter Drucker

iii) Want for a specific product backed by an ability to pay is called
__________.

a) Demand

b) Need

c) Want

iv) __________ is not a type of Marketing Concept.

a) production concept

b) supplier concept

c) selling concept
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v) ___________ is a combination of quality, service & price

a) Marketing Triad

b) Customer Value Triad

c) Service Quality Triad

vi) ___________ is the major objective of any marketing activity in
the world.

a) Production

b) Selling

c) Assembling

B) Match the following : [5]

Column A Column B

i) Product a) Confectionery

ii) Retailer b) Cost plus pricing

iii) Markup pricing c) Standardized grade name for
agricultural products

iv) ISI d) Sells to the ultimate customer

v) Customary Pricing e) Bundle of utilities

Q2) Write a short note (any two) : [10]

a) Objectives of Marketing

b) Limitations of Market Segmentation

c) Brand Loyalty

d) Types of Advertising Media

Q3) a) Explain the scope and objectives of Marketing. [8]

b) Explain the concept of Advertising and explain the different types of
Advertising Media. [7]

Q4) a) State the advantages and disadvantages of market segmentation. [8]

b) Explain concept of product life cycle. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUË`mhr 5) [5]
i) {dnUZ hr EH$ à{H«$`m Amho Á`mMm CÔoe ................... Amho.

A) CËnmXZ
~) Z\$m {_idUo
H$) J«mhH$m§À`m JaOm nyU© H$aUo

ii) ............... ho AmYw{ZH$ {dnUZmMo OZH$ AmhoV.
A) A~«mh_ _mñbmo
~) {\${bn H$moQ>ba
H$) nrQ>a S´>H$a

iii) Xò  XoÊ`mÀ`m j_VoÛmao g_{W©V {d{eï> CËnmXZmMr BÀN>m åhUOo ...............
A) _mJUr
~) JaO
H$) hdr

iv) ................ hr {dnUZ g§H$ënZoMm àH$ma Zmhr.
A) CËnmXZ g§H$ënZm
~) nwadR>mXma g§H$ënZm
H$) {dH«$s g§H$ënZm

v) ................... ho JwUdÎmoMo, godoMo Am{U qH$_V Mo g§̀ moOZ Amho.
A) _mH}$qQ>J Q´>m`S>
~) H$ñQ>_a ìh°ë ỳ Q´>m`S>
H$) gpìh©g ¹$m{bQ>r Q´>m`S>
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vi) ................ ho OJmVrb H$moUË`mhr {dnUZ {H«$`mH$bmnmMo à_wI C{Ôï> Amho.

A) à_moeZ

~) goqbJ

H$) Ag|~qbJ

~) `mo½` OmoS>çm Owidm. [5]

aH$mZm A aH$mZm ~

i) CËnmXZ A) H$Ý\o$ŠeZar

ii) {H$aH$moi {dH«o$Vm ~) qH$_V A{YH$ qH$_V

iii) _mH©$An qH$_V H$) H¥$fr CËnmXZm§gmR>r à_m{UV loUrMo Zmd

iv) ISI S>) A§{V_ J«mhH$mbm {dH$Vmo

v) àM{bV qH$_V B) Cn ẁº$Vm ~§S>b

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr 2) [10]

A) {dnUZmMr C{Ôï>ço

~) ~mOmanoR> {d^mOZmÀ`m _`m©Xm

H$) {MÝhm§H$Z {Zð>m

S>) Om{hamV _mÜ`_mMo àH$ma

àíZ àíZ àíZ àíZ àíZ 3) A) {dnUZmMr ì`már Am{U C{Ôï>ço ñnï> H$am. [8]

~) Om{hamV hr g§H$ënZm ñnï> H$ê$Z Om{hamV _mÜ`_m§Mo {d{dY àH$ma ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ~mOma {d^mOZmMo \$m`Xo d VmoQ>o gm§Jm. [8]

~) dñVy OrdZMH«$ hr g§H$ënZm ñnï> H$am. [7]





Q1) A) Fill in the Blanks (Attmept any five) : [5]
i) ________ is not related to a stock exchange.

a) Knowledge Process Outsourcing (KPO)
b) Net Asset Value (NAV)
c) Initial Public Offering (IPO)
d) National Stock Exchange (NSE)

ii) __________ is responsible for the fluctuations in the SENSEX.
a) Rain, drought, floods b) Monetary policy
c) Political instability d) All of the above

iii) _________ is the limit below which a stock price cannot trade on
a particular Trading day.
a) Upper circuit b) Lower circuit
c) Upper and lower circuits d) None of the ahove

iv) __________ regulates and supervises NBFCs
a) Finance Ministry b) SEBI
c) RBI d) Respective state government

v) The central office of the Life Insurance Corporation of India (LIC)
is located at _________.
a) New Delhi b) Chennai
c) Pune d) Mumbai

vi) SEBI was primarily set up to ________.
a) To protect investors from fraudulent activities
b) To control the operations of mutual funds
c) To work as a regulator of the stock exchange activities
d) All of the above
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B) Match the following : [5]

i) SENSEX a) 50 Companies

ii) Nifty b) Aditya Birla Finance Ltd

iii) NBFC c) Bombay Stock Exchange

iv) IRDA d) Higher demand for shares than
supply

v) Upper circuits e) Regulating and Licensing the
insurance industries in India

Q2) Write short notes (Any Two) : [10]

a) Merchant Banking

b) Trade Settlement

c) Lease financing

d) Functions of SEBI

Q3) a) Write a detailed note on Bombay Stock Exchange. [8]

b) Explain the types of stock trading. [7]

Q4) a) Explain the career opportunities in Insurance sector. [8]

b) Explain the functions of IRDA. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) .......... amoIo ~mOmamer g§~§{YV Zmhr.

A) Zm°boO àmogog AmCQ>gmo{gªJ (KPO)
~) {Zìdi _mb_Îmm _yë` (NAV)
H$) àma§{^H$ gmd©O{ZH$ ^mJ {dH«$s (IPO)
S>) amï´>r` amoIo ~mOma (NSE)

ii) ............. ho goÝgoŠg_Yrb MT>CVmam§gmR>r O~m~Xma R>aVo.
A) nmD$g, XþîH$mi, nya ~) MbZ{df`H$ YmoaU
H$) amOH$s` ApñWaVm S>) darb gd©

iii) {d{eï> Q´>oqS>JÀ`m {Xder Á`m qH$_V _`m©XoÀ`m Imbr ñQ>m°H$ Q´>oqS>J H$ê$ eH$V Zmhr
Ë`mg ........... åhUVmV.
A) Aßna g{H©$Q> ~) bmoAa g{H©$Q>
H$) Aßna Am{U bmoAa g{H©$Q²>g S>) darbn¡H$s H$mhrhr Zmhr

iv) ............ ~±Ho$Îma {dÎmr` g§ñWm§Mo {Z`_Z Am{U n ©̀dojU H$aVo.
A) AW© _§Ìmb` ~) go~r
H$) ^maVr` [aPìh© ~±H$ S>) g§~§{YV amÁ` gaH$ma

v) ^maVr` Am ẁ{d©_m _hm_§S>i (LIC) Mo _w»` H$m`m©b` .......... òWo Amho.
A) Zdr {Xëbr ~) MoÝZB©
H$) nwUo S>) _w§~B©

vi) go~r Mr ñWmnZm àm_w»`mZo .............. gmR>r H$aÊ`mV Ambr.
A) Jw§VdUyH$Xmam§Mo \$gdoJrar nmgyZ g§ajU H$aUo
~) å ẁÀ ẁAb \§$S>mÀ`m H$m_H$mOmda {Z §̀ÌU R>odUo
H$) amoIo ~mOmamVrb KS>m_moS>tMo {Z`m_H$ åhUyZ H$m_ H$aUo
S>) darb gd©

3 P.T.O.



[6142]-607 4

~) OmoS>çm Owidm. [5]

i) goÝgoŠg A) 50 H§$nÝ`m

ii) {ZâQ>r ~) Am{XË` {~bm© \$m`ZmÝg {b.

iii) EZ.~r.E\$.gr. H$) ~m°å~o ñQ>m°H$ EŠgM|O

iv) Am`.Ama.S>r.E. S>) nwadRçmnojm eoAg©Mr _mJUr OmñV

v) Aßna g{H©$Q> B) ^maVmVrb {d_m CÚmoJm§Mo {Z`_Z Am{U
nadmZm XoUo

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) _MªQ> ~±qH$J

~) Q´>oS> goQ>b_|Q>

H$) ^mS>onÅ>m {dÎmnwadR>m

S>) go~rMr H$m }̀

àíZ àíZ àíZ àíZ àíZ 3) A) ~m°å~o ñQ>m°H$ EŠgM|O da {dñV¥V Q>rn {bhm. [8]

~) ñQ>m°H$ Q´>oqS>JMo àH$ma ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) {d_m joÌmVrb ZmoH$ar d ì`dgm`mÀ`m g§Yr ñnï> H$am. [8]

~) ^maVr` {d_m {Z`m_H$ Am{U {dH$mg àm{YH$aU (IRDA) Mr H$m }̀ ñnï> H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative (Any Five):[5]
1) The first company legislation in India was passed in

________known as a Joint Stock Companies Act.
(1840, 1850, 1860)

2) As per majority rule, a resolution passed by the majority of members
is binding on the company and consequently on the _______
(Minority, Creditors, Directors)

3) On completion of investigation, the SFIO shall submit the
Investigation Report to the _________
(State Government, Registrar, Central Government)

4) The concept of Company Act taken from _______ Companies Act.
(English, American, Russian)

5) ________ and Arrangements can take place between a company
and its creditors or members and / any class of them.
(Competition, Compromise, Condition)

6) Corporate governance is not a law it’s a _________.
(Mechanism, Scheme, Policy)

B) Match the following : [5]
          Column A        Column B

1) The Joint Stock Companies Act a) Unfair Prejudice Petition
2) Minority Shareholders b) Section 149
3) Merger c) Cadbury Committee
4) Code of Best Practice d) 1850
5) Independent Director e) Combination of two or

more companies into a
single company
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Q2) Write a short note (any two) : [10]
a) Social Responsibilities of Company
b) Prevention of Mismanagement
c) Appointment of Investigator
d) Principles of Morality

Q3) a) Explain the provisions related to social responsibilities of company? [8]
b) What are the remedies and rights of Minority shareholders? [7]

Q4) a) What are the rights and duties of inspector? [8]
b) What is Corporate Governance? State the pillars of Corporate

Governance. [7]


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àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) ^maVmVrb n{hbm H§$nZr H$m¶Xm .............. ‘Ü¶o g§‘V H$aÊ¶mV Ambm Omo g§¶wº$

ñH§$X à‘§S>i H$m¶Xm åhUyZ AmoiIbm OmVmo.
(1840, 1850, 1860)

ii) ~hþ‘VmÀ¶m {Z¶‘mZwgma, ~hþg§»¶ g^mgXm§Zr nmg Ho$bobm R>amd H§$nZrda Am{U
........... da ~§YZH$maH$ AgVmo.
(Aëng§»¶m§H$, F$UH$mo, g§MmbH$)

iii) Vnmg nyU© Pmë¶mda, SFIO ............. bm Vnmg Ahdmb gmXa H$aVo
(amÁ¶ gaH$ma, Zmo§XUr A{YH$mar, H|$Ð gaH$ma)

iv) H§$nZr H$m¶ÚmMr g§H$ënZm ........... H§$nZr H$m¶Úm nmgyZ KoVbr Amho.
(B§J«Or, A‘o[aH$Z, a{e¶Z)

v) .............. Am{U ì¶dñWm ho H§$nZr Am{U {VMo H$O©Xma qH$dm gXñ¶ qH$dm Ë¶m§Mm
H$moUVmhr dJ© ¶m§À¶mV hmoD$ eH$Vo.
(ñnYm©$, VS>OmoS>, AQ>)

vi) H$m°nm}aoQ> JìhZ©Zg hm H$m¶Xm Zmhr, Va Vmo ............... Amho.
(¶§ÌUm, ¶moOZm, YmoaU)

~) ¶mo½¶ OmoSçm Owidm. [5]
aH$mZm A aH$mZm ~

i) g§¶wº$ ñH§$X à‘§S>i H$m¶Xm A) AÝ¶m¶H$maH$ nyd©J«h ¶m{MH$m
ii) Aëng§»¶m§H$ ^mJYmaH$ ~) H$b‘ 149
iii) {dbrZrH$aU H$) H°$S>~ar H${‘Q>r
iv) gdm©oÎm‘ gamd g§{hVm S>) 1850
v) ñdV§Ì g§MmbH$ B) XmoZ qH$dm XmoZnojm A{YH$

H§$nÝ¶m§Mo EH$ÌrH$aU

3 P.T.O.
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àíZ 2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr 2) [10]

A) H§$nZrÀ¶m gm‘m{OH$ O~m~Xmè¶m

~) J¡aì¶dñWmnZmg à{V~§Y

H$) VnmgZrgmMr Zo‘UyH$

S>) Z¡{VH$VoMr VËdo

àíZ 3) A) H§$nZrÀ¶m gm‘m{OH$ O~m~Xmar~m~VÀ¶m VaVwXr ñnï> H$am. [8]

~) Aëng§»¶m§H$ ^mJYmaH$m§Mo Cnm¶ Am{U A{YH$ma H$moUVo AmhoV? [7]

àíZ 4) A) Vnmg{ZgmMo h¸$ Am{U H$V©ì¶o H$moUVo AmhoV? [8]

~) H$m°nm}aoQ> JìhZ©Ýg åhUOo H$m¶? H$m°nm}aoQ> JìhZ©ÝgMo AmYmañV§̂  ñnï> H$am. [7]





Q1) a) Fill in the blanks (Any five) : [5]
i) Agriculture export is essential for _______.

a) Economic growth
b) Domestic growth
c) Income growth

ii) The head quarter of NAFED is at ________.
a) Mumbai
b) Delhi
c) Kolkata

iii) APMC's can dissolve by _______ government.
a) Central
b) State
c) Local

iv) The Area of APMC is restricted to _______ only.
a) Tehsil
b) District
c) Nation

v) The largest Agriculture marketing federation in India is ______.
a) SAFED
b) NAFED
c) NABARD

vi) Promotion of Agriculture Marketing is an objective of _______.
a) NAFED
b) Society
c) Government

Total No. of Questions : 4]
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b) Match the following : [5]

       'A'             'B'

i) Opportunities to farmers a) APMC

ii) Export marketing b) Selling goods abroad

iii) APMC management c) New market for product

iv) APMC Model Act 2003 d) Board of Directors

v) Product Development Strategy e) Important provisions

Q2) Write short notes (Any Two) : [10]

a) Performance of NAFED

b) Co-operative services marketing

c) Problems of APMC.

d) Impact on Agriculture Marketing

Q3) a) State the factors influencing marketing strategy of Co-operatives. [8]

b) State the functions of NAFED. [7]

Q4) a) State the importance of APMC. [8]

b) State the basic features of APMC Model Act 2003. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) H¥$fr_mb {Z`m©V ............... gmR>r Amdí`H$ Amho.

A) Am{W©H$ d¥Õr
~) KaJwVr d¥Õr
H$) CËnÝZ d¥Õr

ii) Zm\o$S> Mo _w»`mb` ............. òWo Amho.
A) _w§~B©
~) {Xëbr
H$) H$mobH$mVm

iii) H¥$fr CËnÝZ ~mOma g{_Vr ............... gaH$ma {dg{O©V H$ê$ eH$Vo.
A) Ho$ÝÐ
~) amÁ`
H$) ñWm{ZH$

iv) H¥$fr CËnÝZ ~mOma g{_VrMo H$m ©̀joÌ ............. nyaVo _`m©XrV Amho.
A) Vh{gb
~) {Oëhm
H$) amï´>

v) ^maVmVrb gdm©V _moR>o H¥$fr {dnUZ _hmg§K åhUOo .............
A) amÁ` {dnUZ _hmg§K
~) Zm\o$S>
H$) Zm~mS>©

vi) H¥$fr {dnUZmg àmoËgmhZ ho ............ Mo CÔrï> Amho.
A) Zm\o$S>
~) gmogm`Q>r
H$) gaH$ma

3 P.T.O.
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~) Imbrb OmoS>çm Owidm. [5]

       "A'            "~'

i) eoVH$è`m§gmR>r g§Yr A) H¥$fr CËnÝZ ~mOma g{_Vr

ii) H¥$fr_mb {Z`m©V ~) ^maVm~mhoa _mb nmR>{dUo

iii) H¥$fr CËnÝZ ~mOma g{_Vr H$) ZdrZ CËnmXZ ZdrZ ~mOma
ì`dñWmnZ

iv) H¥$fr CËnÝZ ~mOma g{_Vr S>) g§MmbH$ _§S>i
AYw{ZH$ H$m`Xm 2003

v) CËnmXZ {dH$mg ì ỳhaMZm B) _hËdmÀ`m VaVyXr

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) Zm\o$S>Mr H$m_Jrar

~) ghH$mar godm {dnUZ

H$) H¥$fr CËnÝZ ~mOma g{_Ë`m§À`m g_ñ`m

S>) H¥$fr {dnUZmdarb n[aUm_

àíZ àíZ àíZ àíZ àíZ 3) A) ghH$mar {dnUZ ì ỳhaMZoda n[aUm_ H$aUmao KQ>H$ gm§Jm. [8]

~) Zm\o$S>Mr H$m }̀ gm§Jm. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) H¥$fr CËnÝZ ~mOma g{_Ë`m§Mo _hËd gm§Jm. [8]

~) H¥$fr CËnÝZ ~mOma g{_Vr _m°S>ob H$m`Xm 2003 _{Yb _w»` VaVyXr gm§Jm. [7]


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Q1) A) Fill in the blanks (Any five out of 6) [5×1=5]
a) ________ is a system is which costs are assigned to batches or

work orders of Production.
i) Job costing ii) Contract costing
iii) Process costing iv) Marginal costing

b) Job Costing is aimed to find out the cost of a specific ______
i) Job ii) Contract
iii) Process iv) Material

c) A contract is generally of _______ duration
i) Short ii) Long
iii) Medium iv) Very Short

d) Passenger Kilometers = Number of Passengers × _______
i) No. of Kilometer ii) No. of Vehicles
iii) Salary of Drive iv) Cost of Vehicle

e) In process costing, as the product passes from one process to
another, the ________ cost of previous process is transferred to
the next process
i) Accumulated ii) Sunk
iii) Process cost iv) Marginal cost

f) CAS 13 - relates to the cost of ____________ cost centre.
i) Job ii) Service
iii) Contract iv) Joint

P.T.O.
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B) Match the following: [5]
a) Service Costing i) Product of comparatively

small value
b) Normal Loss ii) Summary of cost incurred

on the job
c) Cost plus contract iii) Absorbed by the unit

completed
d) Job order cost sheet iv) Contract costing
e) By product v) Cost of providing service

Q2) Short Notes (Any two out of three) [10]

a) Escalation clause

b) Normal and abnormal loss

c) Application of service costing

Q3) Bharat Constructions, Baroda undertook a Contract No 45 for Rs. 4,00,000
on 1April, 2022 They incurred the following expenses during the year
2022-23. [15]
Materials Issued from Stores 36,600
Materials Transferred from Contract No. 54 3,400
Materials Directly Purchased for the Contract 10,000
Materials in Hand on Site 2,500
Plant Issued for Contract 20,000
Wages Paid directly 70,000
Architects Fees 3,000
Wages Due but not paid 1,000
Direct Expenses Outstanding 600
Cash Received from Contractee 1,44,000
Work Certified 1,80,000
Cost of Work Uncertified 1,500
Of the Plant and Materials charged to contract, Plant costing Rs.4,000 and
Materials costing Rs. 3,000 were lost. on 31 March 2023 Plant costing 3,000
was returned to stores Charge Depreciation on Plant @ 15% p.a. as per Written
Down value Method: Prepare Contract Account for the year ended 31 March,
2023.
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Q4) The Bharat Chemicals Ltd. Baroda produced three types of chemicals during
the month August, 2022 by three consecutive processes. In each process 2%
of the total weight put in is lost and 10% is scrap. In Process I and Process II
the scrap realises Rs. 100 a tonne and from Process III Rs. 20 at tone. [15]
Particulars Process‘I’ Process ‘II’ Process ‘III’
Materials Used Tonnes 1,000 140 1,348
Raw Materials Consumed 1,20,000 28,000 2,83,620
Manufacturing Wages 20,500 18,520 15,000
General Overheads 10,300 7,240 3,100
The product of three processes are dealt with as follows
Passed to Next Process % 75 50 --
Sent to Warehouse for Sale % 25 50 100
Prepare Process Cost Account showing cost per tonne of each process.

OR
From the following data relating to two passengers vehicles viz.Deepa and
Swara, of Saibaba Transport Co, Nashik you are required to calculate the cost
per running km.
Particulars Deepa Swara
Cost of Vehicle 1,00,000 60,000
Annual Road License 3,000 3,000
Insurance p.a. 2,800 1,600
Yearly Garage Rent 2,400 2,000
Supervision and Salaries for twelve months 5,200 2,325
Driver’s Wages per running hour 6 6
Cost of Petrol per litre 3.50 3.50
Repairs and Maintenance per km. 3.30 3.30
Cost of tyre and Tubes per km. 3.59 4.10
Estimate Life kms 1,60,000 1,20,000
km. per Litre of Petrol km 10 12
Annual kms run km 24,000 9,000
Charge interest 10% pa on cost of vehicles and vehicle runs 40 km per hour
on an average.


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Q1) A) Attempt the following: [5×1]
Choose the correct alternative of the following (any five)
a) If X follows standard normal distribution then P(X < 2) =

i) P(X > 2) ii) P(X >-2)
iii) 1 - P(X > -2) iv) 1-P(|X|>2)

b) The hypothesis stating that average proportion of defective entries
in journal is less than 10% is
i) left sided hypothesis
ii) right sided hypothesis
iii) two-sided hypothesis
iv) null hypothesis

c) Let X N  (300,25) then standard deviation is
i) 300 ii) 12
iii) 25 iv) 5

d) To test independence of two attributes with one attribute at 3 levels
and another attribute at 4 levels, under null hypothesis distribution is
chi-square with degrees of freedom.
i) 2 ii) 3
iii) 1 iv) 6

e) Testing H0 : P = 0.5 against H1 : P  0.5 the critical region is
i) left tailed ii) right tailed
iii) two sided iv) neither (i) or (ii)

f) Simple random sampling is used when the population is:
i) Homogeneous ii) Heterogeneous
iii) Discrete iv) Continous

g) The ________ sum of squares measures the variability of the
observed values around their respective block means.
i) Error ii) Total
iii) Treatment iv) Block

P.T.O.
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B) State whether the following statements are True or False. [5×1]
a) Probability of committing type II error is called as level of

significance.
b) Selecting a college representative when college is multidisciplinary

is systematic sampling.
c) For certain normal distribution mean is 45 and mode is 58.
d) Long form of ANOVA Analysis of variance.
e) Large sample tests are also called as exact test.

Q2) Write short notes (any two) [5 each]

a) Stratified sampling

b) Normal distribution

c) Analysis of Variance (ANOVA)

d) Chi-square test

Q3) A) a) Let X be normally distributed random variable with parameters
mean = 40 and variance = 1 that is X ~ N (40, 1). [4]

Calculate:

i) P (X  42)

ii) P (39  X  41)

b) From a locality 200 persons were randomly selected and the
information regarding educational achievements was collected. The
Result is as follows. [4]

Litterate Illiterate

Men 20 80

Women 30 70

Examine whether gender and education are associated.

(Given :  21,0.05 = 3.841)
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B) a) Fill in the blanks of the following ANOVA tables marked “–” [4]

Source of Degrees of Sum of Mean Sum Variance

variation freedom squares of squares Ratio

Between 2 41.74

shifts

Between 4

workers

Error 106.79

Total 14 496.96

Test the homogeneity of machine shits and workers. Use 5% level
of significance

b) On the basis of the following data can we say that there is significant
difference in average reading rate of boys and girls: (use 5% level of
significance) [3]

Sample size Average reading rate Variance

Girls 100 206 450

Boys 100 191 450

Q4) A) a) The PI (pulsality index) of 10 patients before and after certain event
are given below: [4]

Before 0.45 0.54 0.48 0.62 0.48 0.60 0.45 0.46 0.35 0.40

After 0.60 0.65 0.63 0.78 0.63 0.80 0.69 0.62 0.68 0.50

Test whether PI differ significantly? Use 5% level of significance.

[Given t9,0.05 = 2.262]
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b) In a certain area A, in a sample of 1000 persons 556 persons were
found to be vegetarian. Where as in a certain area B, in a sample of
800 persons 330 persons were found to be vegetarian. Do these
facts reveal a significant difference between the two areas with respect
to food habits? (Use 5% level of significance) [4]

B) a) In a population of size 5 the values are 12, 23, 56, 18, 17. Draw all
possible sample of size 2 using SRSWOR. Verify that sample mean
is an unbiased estimator of population mean. [4]

b) Define Normal probability distribution, also state additive property
of two independent normal variates. [3]


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Q1) A) Fill in the blanks (Attempt any five out of six) [5]
i) ______ Approaches in business enterprise give to entrepreneur an

unfair advantage in enterprise.
a) Logical
b) Creative
c) Flexible

ii) ______ Plan lays down strategies for marketing a product/service
which can lead to success of business.
a) Production
b) Human Resource
c) Marketing

iii) ______ and organization are two concepts that play an active role
in any firm.
a) Communication
b) Management
c) Control

iv) Revival schemes of industrial sickness the Government of India
has setup a statutory body named ________.
a) BIFR
b) FEMA
c) MRTP

[Total No. of Pages : 4
SEAT No. :

P.T.O.
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v) Business Continuity management is proactive while ________
Management is reactive.
a) Cash crisis
b) Crisis
c) Leadership

vi) Toppr was founded in the year _________.
a) 2011
b) 2012
c) 2013

B) Match the following. [5]
a) Urban Ladder i) 2012
b) Sharechat ii) 2006
c) Internal Causes iii) Evaluate strength, weakness

of competitors
d) MSME Act iv) Under the control of

Management
e) Comparative Analysis v) 2015

Q2) Write Short Notes (Attempt Any Two) [10]
a) Financial Aspects in business plan.
b) Start-up phase management.
c) Revival scheme of sickness.
d) Advantages of start-ups in India.

Q3) a) Write the guidelines for preparing business plan. [8]
b) Explain the challenges in implementation of Enterprise Risk Management.

[7]

Q4) a) Explain the types of business crises. [8]
b) Explain the Do’s and Don’ts for startup. [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) ................... ì¶dgm¶ CX²¶moJmVrb Ñï>rH$moZ CX²¶moOH$m§Zm E§Q>aàmBP‘Ü¶o EH$

AÝ¶m¶H$maH$ ’$m¶Xm XoVmV.

A) Vm{H©$H$

~) {H«$E{Q>ìh

H$) bd{MH$

ii) .................. ¶moOZm CËnmXZ/ godoÀ¶m {dnUZmgmR>r YmoaUo ‘m§S>Vo Á¶m‘wio ì¶dgm¶
¶eñdr hmoD$ eH$Vmo.

A) CËnmXZ

~) ‘mZd g§gmYZ

H$) {dnUZ

iii) ................ Am{U g§KQ>Zm ¶m XmoZ g§H$ënZm AmhoV Á¶m H$moUË¶mhr ’$‘©‘Ü¶o g{H«$¶
ŷ{‘H$m ~OmdVmV.

A) g§dmX

~) ì¶dñWmnZ

H$) {Z¶§ÌU

iv) Am¡X²¶mo{JH$ AmOmamÀ¶m nwZé‚mrdZ ¶moOZm§gmR>r ̂ maV gaH$maZo ........... ZmdmMr d¡Ym{ZH$
g§ñWm ñWmnZ Ho$br Amho.

A) BIFR
~) FEMA
H$) MRTP
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v) ì¶dgm¶ gmVË¶ ì¶dñWmnZ g{H«$¶ AgVo Va ................... ì¶dñWmnZ à{V{H«$¶merb
AgVo.
A) amoI g§H$Q>
~) g§H$Q>
H$) ZoV¥Ëd

vi) Toppr Mr ñWmnZm .............. dfm©V Pmbr.
A) 2011
~) 2012
H$) 2013

~) OmoS>²¶m bmdm. [5]
i) A~©Z ë¶mS>a (Urban Ladder) A) 2012
ii) eoAaM°Q> ~) 2006
iii) A§VJ©V H$maUo H$) à{VñnÜ¶mªMr VmH$X,

H$‘Hw$dVnUmMo ‘yë¶m§H$Z H$am
iv) E‘EgE‘B© H$m¶Xm S>) ì¶dñWmnZmÀ¶m {Z¶§ÌUmImbr
v) VwbZmË‘H$ {díbofU B) 2015

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) ì¶dgm¶ ¶moOZoVrb Am{W©H$ ~m~r
~) ñQ>mQ>©-An ’o$O ì¶dñWmnZ
H$) AmOmanUmMr nwZé‚mrdZ ¶moOZm
S>) ^maVmVrb ñQ>mQ>©-AßgMo ’$m¶Xo

à.à.à.à.à.3) A) ì¶dgm¶ ¶moOZm V¶ma H$aÊ¶mgmR>r ‘mJ©Xe©H$ VÎdo {bhm. [8]
~) E§Q>aàmBO [añH$ ‘°ZoO‘|Q>À¶m A§‘b~OmdUrVrb AmìhmZo ñnï> H$am. [7]

à.à.à.à.à.4) A) ì¶dgm¶mVrb g§H$Q>m§Mo àH$ma ñnï> H$am. [8]

~) ñQ>mQ>©AngmR>r H$m¶ H$amdo Am{U H$m¶ H$ê$ Z¶o ho ñnï> H$am. [7]


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Q1) A) Fill in the blank with the most appropriate alternative. (Any five) [5]

i) Transport function of marketing creates _________ utility.

(Place, Time, Possession)

ii) Marketing is a process which aims at ________.

(Production, Profit Making, The satisfaction of customer needs)

iii) A place for buying and selling activities is called _______.

(Market, Marketing, Market research)

iv) The one significant reason for the Trade to become global is ______.

(Communication opportunities, Technology, Improved
transportation)

v) Extension of marketing activities across the globe is called as
______.

(Global Business, Universal Marketing, Global Marketing)

vi) IT security in any firm or organization is maintained and handled by
________.

(CEO of the organization, Security Auditor, IT Security Engineer)

[Total No. of Pages : 4
SEAT No. :

P.T.O.
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B) Match the following. [5]

Column A Column B

i) Indian Patent Act a) Protecting the Technology
from any kind of threats

ii) Consumer Protection Act b) 2005

iii) Defects of Agricultural   c) 1986

Marketing

iv) Global Marketing d) Lack of Storage Facility

v) Cyber Security e) Worldwide

Q2) Write a Short Notes. (any two) [10]

a) Cyber Security Marketing Advantages.

b) Importance of Global Marketing.

c) Competition Act 2002.

d) Agri-products.

Q3) a) Explain the various functions in Agricultural Marketing System. [8]

b) Explain the nature of Trade Mark Act, 1999. [7]

Q4) a) Explain the factors affecting Global Marketing. [8]

b) Explain the need and importance of Cyber Security Marketing. [7]


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Total No. of Questions : 4]

[6142]-613
T.Y. B. Com.

365 (H) : MARKETING MANAGEMENT - II
(CBCS 2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àý A{Zdm¶© AmhoV.

2) COdrH$S>o {Xbobr g§»¶m nyU© JwU Xe©dVmV.

P5927

à.à.à.à.à.1) A) ¶mo½¶ n¶m©¶ {ZdSy>Z [aº$ OmJm ^am. (H$moUË¶mhr 5) [5]
i) {dnUZmMo n[adhZ H$m¶© ................... Cn¶wº$Vm {Z‘m©U H$aVo.

(ñWmZ, doi, Vm~m)

ii) {dnUZ hr EH$ à{H«$¶m Amho Á¶mMm CÔoe ............. Amho.

(CËnmXZ, Z’$m {‘idUo, J«mhH$m§À¶m JaOm nyU© H$aUo)

iii) IaoXr Am{U {dH«$s {H«$¶mH$bmnm§À¶m {R>H$mUmg ..................... åhUVmV.

(~mOma, {dnUZ, ~mOma g§emoYZ)

iv) ì¶mnma OmJ{VH$ hmoÊ¶mMo EH$ ‘hÎdmMo H$maU åhUOo ................ hmo¶.

(g§dmXmÀ¶m g§Yr, V§ÌkmZ, gwYm[aV dmhVyH$)

v) OJ^amVrb {dnUZ {H«$¶mH$bmnm§À¶m {dñVmambm .................. åhUVmV.

(OmJ{VH$ ì¶dgm¶, ¶w{Zìhg©b ‘mH}$qQ>J, OmJ{VH$ {dnUZ)

vi) H$moUË¶mhr ’$‘© qH$dm g§ñWo‘Yrb Am¶Q>r gwajm .............. Ûmao amIbr OmVo Am{U
hmVmibr OmVo.

(g§ñWoMo grB©Amo, gwajm boImnarjH$, Am¶Q>r gwajm A{^¶§Vm)

~) ¶mo½¶ OmoS>²¶m Owidm. [5]
aH$mZm A aH$mZm ~

i) ^maVr¶ noQ>§Q> H$m¶Xm A) H$moUË¶mhr àH$maÀ¶m Ymo³¶m§nmgyZ

V§ÌkmZmMo g§ajU H$aUo

ii) J«mhH$ g§ajU H$m¶Xm ~) 2005
iii) H¥$fr {dnUZmVrb Xmof H$) 1986
iv) OmJ{VH$ {dnUZ S>) gmR>dU gw{dYoMm A^md

v) gm¶~a gwajm B) OJ^a
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à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) gm¶~a gwajm {dnUZmMo ’$m¶Xo

~) OmJ{VH$ {dnUZmMo ‘hËd

H$) ñnYm©Ë‘H$ H$m¶Xm 2002

S>) H¥$fr-CËnmXZo

à.à.à.à.à.3) A) H¥$fr {dnUZ ì¶dñWoVrb {d{dY H$m¶} ñnï> H$am. [8]

~) ì¶mnma {MÝh A{Y{Z¶‘ 1999 Mo ñdê$n ñnï> H$am. [7]

à.à.à.à.à.4) A) OmJ{VH$ {dnUZmdma n[aUm‘ H$aUmao KQ>H$ ñnï> H$am. [8]

~) gm¶~a gwajm {dnUZmMr JaO Am{U ‘hÎd ñnï> H$am. [7]


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[6142]-614
T.Y. B. Com.

365 (i) : AGRICULTURAL AND INDUSTRIAL ECONOMICS - II
(CBCS 2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P5928

Q1) a) Fill in the blanks (Attempt any 5 out of 6) [5]

i) The make in India initiative was launched in _______.

(2014, 2012, 2017, 2020)

ii) Mainly ________ factors affecting industrial relations.

(Economic, political, social, cultural)

iii) The national manufacturing policy was launched in ________.

(2014, 2011, 2015, 2019)

iv) The major problem of agricultural labour is _______.

(Less wages, high illiteracy rate, high capital, high standard of living)

v) The Industrial relation dispute act was passed in _______.

(1950, 1947, 1965, 1993)

vi) _____ refers to all types of relationship between all parties
concerned with industry

(General relations, political relations, human relations, Industrial
relations)

[Total No. of Pages : 4
SEAT No. :

P.T.O.
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B) Match the following. [5]

i) Industrial dispute act a) New Industrial unit

ii) Start up India b) Less wages

iii) Maharashtra industrial policy c) 1947

iv) Problem of agricultural labour d) 2019

v) Make in India e) 2014

Q2) Write a short notes (any 2 out of 4) [10]

a) Problems of agricultural labour.

b) Industrial relations.

c) Types of agricultural labour.

d) Water management Initiatives.

Q3) a) Explain the impact of covid -19 pandemic on Indian agriculture. [8]

b) Describe the causes of increasing agricultural labour in India. [7]

Q4) a) Describe the socio-economic charactaristies of agriculture labour. [8]

b) Explain the meaning and scope of Industrial relations. [7]


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[6142]-614
T.Y. B. Com.

365 (i) : AGRICULTURAL  AND INDUSTRIAL ECONOMICS -II
(CBCS 2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P5928

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) ‘oH$ BZ B§{S>¶m CnH«$‘ ................ ‘Ü¶o gwê$ H$aÊ¶mV Ambm.

(2014, 2012, 2017, 2020)
ii) àm‘w»¶mZo ................. KQ>H$ Am¡X²¶mo{JH$ g§~§Ymda n[aUm‘ H$aVmV.

(Am{W©H$, amOH$s¶, gm‘m{OH$, gm§ñH¥${VH$)
iii) amï´>r¶ {d{Z‘m©U YmoaU ................... ‘Ü¶o Om{ha H$aÊ¶mV Ambo.

(2014, 2011, 2015, 2019)
iv) eoV‘Oyam§Mm ‘w»¶ àíZ ............ hm Amho.

(H$‘r doVZ, Cƒ {ZajaVm Xa, Cƒ ^m§S>db, Cƒ amhUr‘mZmMm XOm©)
v) Am¡X²¶mo{JH$ g§~§Y g§Kf© H$m¶Xm ............... ‘Ü¶o g§‘V H$aÊ¶mV Ambm.

(1950, 1947, 1965, 1993)
vi) CX¶moJm§er g§~§{YV {d{dY njm§‘Yrb g§~§Y ¶mg ................. Ago åhUVmV.

(gm‘mÝ¶ g§~§Y, amOH$s¶ g§~§Y, ‘mZdr g§~§Y, Am¡X²¶mo{JH$ g§~§Y)

~) ¶mo½¶ OmoS>²¶m bmdm. [5]
i) Am¡X²¶mo{JH$ g§Kf© H$m¶Xm A) ZdrZ Am¡X²¶mo{JH$ KQ>H$

ii) ñQ>mQ>© - An B§{S>¶m ~) H$‘r doVZ

iii) ‘hmamï´> Am¡X²¶mo{JH$ YmoaU H$) 1947
iv) eoV‘Owam§À¶m g‘ñ¶m S>) 2019
v) ‘oH$ BZ B§{S>¶m B) 2014
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à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) eoV‘Owam§À¶m g‘ñ¶m

~) Am¡X²¶mo{JH$ g§~§Y

H$) eoV‘Oyam§Mo àH$ma

S>) Ob ì¶dñWmnZ CnH«$‘

à.à.à.à.à.3) A) ^maVr¶ H¥$fr joÌmdarb H$moamoZm -19 ‘hm‘marMo n[aUm‘ ñnï> H$am. [8]

~) ^maVmVrb eoV‘Owam§Mr dmT>Vr g§»¶m ¶mMr H$maUo ñnï> H$am. [7]

à.à.à.à.à.4) A) eoV‘Owam§Mo gm‘m{OH$ - Am{W©H$ d¡{eï>²¶o {deX H$am. [8]

~) Am¡X²¶mo{JH$ g§~§Ym§Mm AW© d ì¶már ñnï> H$am. [7]


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[6142]-615
T.Y. B.Com.

365 (J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT -II

(2019 Pattern) (Semester - VI) (Special Paper - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P5929

Q1) Attempt any five of the following. [5×2=10]
a) Define ‘Atmanirbhar’.
b) Define armed forces.
c) What is logistic management?
d) What is Defence Space?
e) Define logistics.
f) Define non military organization.

Q2) Attempt any four of the following. [4×5=20]
a) Logistic management.
b) Special Weapon Development.
c) Ministry of defence.
d) Military organization.
e) Missile technology.

Q3) Attempt any four of the following. [4×5=20]
a) State the principles of non military organization.
b) State the principles of military organization.
c) Explain the Objective of ‘Atmanirbhar Bharat’.
d) Explain decision making process of Indian armed forces.
e) Explain Nature and scope of Defence management.

Q4) Attempt any two of the following. [2×10=20]
a) Explain in detail problems of defence production in India.
b) Explain in detail Increasing Role of the Private Sector in Securing the

Supply Chain and Providing Technology for Self-reliance.
c) Explain in detail the scope of logistics management in Indian armed forces.


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Total No. of Questions : 4]

[6142]-615
T.Y. B.Com.

365 (J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT -II

(2019 Pattern) (Semester - VI) (Special Paper - II)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àý A{Zdm¶© AmhoV.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

P5929

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àý gmoS>dm. [5×2=10]
A) ‘AmË‘{Z ©̂a’ Mr ì¶m»¶m H$am.
~) goZmXbo ì¶m»¶m H$am.
H$) nwadR>m ì¶dñWmnZ åhUOo H$m¶?
S>) {S>’o$Ýg ñnog åhUOo H$m¶?
B) nwadR>m ì¶m»¶m H$am.
’$) {~Ja bîH$ar g§KQ>Zm ì¶m»¶m H$am.

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]
A) nwadR>m ì¶dñWmnZ
~) {deof eó {dH$mg
H$) g§ajU ‘§Ìmb¶
S>) g§ajU g§KQ>Zm
B) jonUmó V§ÌkmZ

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àý gmoS>dm. [4×5=20]
A) {~Ja bîH$ar g§KQ>ZoMr ‘wbVËdo gm§Jm.
~) bîH$ar g§KQ>ZoMr ‘wbVËdo gm§Jm.
H$>) ‘AmË‘{Z ©̂a ^maV’ Mr C{Ôï> ñnï> H$am.
S>) ^maVr¶ goZmXbmVrb {ZU©¶ à{H«$¶m ñnï> H$am.
B) g§ajU ì¶dñWmnZmMo ñdê$n Am{U ì¶már ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àý gmoS>dm. [2×10=20]
A) g§ajU CËnmXZmVrb g‘ñ¶m g{dñVa ñnï> H$am.
~) nwadR>m gmIir gwa{jV H$aÊ¶mV Am{U ñdmdb§~ZmgmR>r V§ÌkmZ CnbãY H$ê$Z XoÊ¶mV ImOJr

joÌmMr dmT>Vr ŷ{‘H$m Vnerbdma ñnï> H$am.
H$) ^maVr¶ goZmXbmVrb nwadR>m ì¶dñWmnZmMr ì¶már g{dñVa ñnï> H$am.





1[6142]-616

Total No. of Questions : 4]

[6142]-616
T.Y. B. Com.

365 (K) : INSURANCE TRANSPORT AND TOURISM - II
(Tourism)

(2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P5930

Q1) A) Fill in the blanks (Attempt any 5) [5]
i) Travel propensity is a measure of _______.

a) The percentage of a population engaging in tourism
b) The ratio of day trip to over night visits
c) Frequency of travel of a population

ii) Handling agents is _________.
a) Domastic tour operators
b) Incoming tour operators
c) Specialist tour operators

iii) IATA stands for
a) International Aviation Travel Association
b) International Air Transporation Association
c) International aviation and Tourism Association

iv) The primary purpose of TAAI is ________.
a) To regulate the travel industry in India along organized lines
b) To regulate the travel industry in world
c) To control the travel industry in India along organised lines

v) TAAI stands for ________.
a) Travel Agent Association of India
b) Tourist Agent Association of India
c) Transport Agent Association of India

[Total No. of Pages : 4
SEAT No. :

P.T.O.
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vi) Validator plate is issued to ________.
a) Air lines
b) BSP
c) Travel Agents

B) Match the following. [5]
i) UNWTO a) 1947
ii) TAAI b) 1966
iii) IATO c) 1945
iv) ITDC d) 1951
v) ICAO e) 1982

f) 1975

Q2) Write Short Notes (Any 2) [10]
a) Tourism Demand and Transport.
b) Tour Operator.
c) Tourist Accommodation.
d) Functions at TAAI.

Q3) a) State the factors influencing Tourist Transport selection. [8]
b) State the types of Tour operator. [7]

Q4) a) Describe the role of Accomodation sector in Tourism. [8]
b) State the functions of IATA. [7]


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[6142]-616
T.Y. B. Com.

365 (K) : INSURANCE TRANSPORT AND TOURISM - II
(Tourism)

(2019 Pattern) (Semester - VI)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P5930

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr 5) [5]
i) àdmgr àd¥Îmr ho EH$ ................ Mo ‘moO‘mn Amho.

A) n¶©Q>Zm‘Ü¶o Jw§Vboë¶m bmoH$g§»¶oMr Q> o̧$dmar

~) amÌrÀ¶m ôQ>rgmR>r {XdgmÀ¶m ghbrMo JwUmoÎma

H$) bmoH$g§IoÀ¶m àdmgmMr dma§dmaVm

ii) hmVmiUr H$aUmoa EO§Q> ................. ho AmhoV.

A) KaJwVr Qy>a Am°naoQ>a

~) ¶oUmao Qy>a Am°naoQ>a

H$) {deofk Qy>a Am°naoQ>a

iii) Am¶. E. Q>r. E. (IATA) Mo {dñVmarV ê$n ............ Amho.

A) Am§Vaamï>©r¶ {d‘mZ àdmg g§KQ>Zm

~) Am§Vaamï>r¶ hdmB© dmhVyH$ g§KQ>Zm

H$) Am§Vam>ï´>r¶ {d‘mZMmbZ Am{U n¶©Q>Z g§KQ>Zm

iv) Q>r.E.E.Am¶. (TAAI) Mm àmW{‘H$ hoVw ................. Amho.

A) g§K{Q>V ‘mJm©Zo ^maVmVrb àdmgr CX²¶moJmMo {Z¶‘Z H$aUo

~) OJmVrb àdmgr CX²¶moJmMo {Z¶‘Z H$aUo

H$) g§KQ>rV ‘mJm©Zo ^maVmVrb àdmgr CX²¶moJmda {Z¶§ÌU R>odUo

v) Q>r.E.E.Am¶. (TAAI) Mo {dñVmarV ê$n ............... Amho.
A) Q´>°ìhb EO§Q> Agmo{gEeZ Am°’$ B§{S>¶m

~) Qy>arñQ> EO§Q> Agmo{eEeZ Am°’$ B§{S>¶m

H$) Q´>mÝgnmoQ>© EO§Q> Agmo{gEeZ Am°’$ B§{S>¶m
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vi) “ìh°{bS>oQ>a ßboQ>” ............... ¶m§Zm Omar Ho$br OmVo.
A) {d‘mZ godm
~) ~r.Eg.nr
H$) àdmgr ‘Ü¶ñV

~) OmoS>²¶m Owidm. [5]
i) UNWTO A) 1947
ii) TAAI ~) 1966
iii) IATO H$) 1945
iv) ITDC S>) 1951
v) ICAO B) 1982

’$) 1975

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr 2) [10]
A) n¶©Q>Z ‘mJUr Am{U dmhVwH$
~) Qy>a Am°naoQ>a
H$) n¶©Q>H$ {Zdmg
S>) TAAI Mr H$m¶}

à.à.à.à.à.3) A) n¶©Q>H$ dmhVwH$ {ZdS>rda n[aUm‘ H$aUmQ>o KQ>H$ gm§Jm. [8]
~) Qy>a Am°naoQ>aMo àH$ma ñnï> H$am. [7]

à.à.à.à.à.4) A) n¶©Q>ZmVrb {Zdmg joÌmÀ¶m ŷ{‘Ho$Mo dU©Z H$am. [8]

~) IATA Mr H$m¶} gm§Jm. [7]


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T.Y. B.Com.

COMPUTER PROGRAMMING AND APPLICATION
365 L : Computer Networking and E-Commerce - II
(2019 Pattern) (Semester - VI) (Special Paper - II)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

P5931 [Total No. of Pages : 2
SEAT No. :

Q1) A) Fill in the Blanks. [5]

a) Customers are going digital with their payments, increasing the need
for ________

i) fraud ii) unsecurity

iii) security iv) prediction

b) To protect your computer from phishing, malware and other security
threats use genuine ________ software.

i) virus ii) malicious

iii) anti-virus iv) trojan

c) Using _________ process confidentially, information can be
achieved.

i) cryptography ii) virus

iii) security iv) steganography

d) ________ helps to simplify business processes and makes them
faster and efficient.

i) E-commerce ii) Files

iii) Folders iv) Virus

e) If the systems use seperate protocols _______ is used to link two
systems

i) Repeater ii) Bridge

iii) Hub iv) Gateway device
P.T.O.
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B) Match the following. [5]

a) E - currency i) E - signature

b) Switch ii) Digital cash

c) Network Topology iii) Connecting to internet

d) Modern iv) Bus

e) Digital Signature v) Connect systems on

network

Q2) Short notes (any 2 out of 4) [10]

a) Information security and Threats

b) Components of wireless networks

c) E - Marketing

d) Search Engines

Q3) a) Explain various security issues in wirless communication. [8]

b) What is mobile commerce? Explain applications of mobile commerce.[7]

Q4) a) Explain in detail firewalls and network security in detail. [8]

b) Explain E-marketing techniques in detail. [7]


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Q1) A) Multiple choice questions. (answer any 5) [5]
i) _____ is an activity by which goods and services are produced.

a) Production
b) Purchase
c) Marketing

ii) Most important element for production process is _________.
a) Finance
b) Raw material
c) Machinery

iii) Which of the following models is used to calculate the timing of the
inventory order?
a) Economic order quantity model
b) Fixed order quantity model
c) Reorder point model
d) Fixed order inventory model

iv) _____ is a term used in logistic and warehousing.
a) ABC Analysis
b) Cros Docking
c) Value chain process
d) Process

v) ______ is a set of management tools and techniques designed to
improve production process.
a) Six sigma
b) Quality management
c) ABC Analysis

P.T.O.
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vi) ______ is the backbone of production planning and control.
a) Material Requisition planning
b) Economic order quantity
c) Value Chain Analysis

vii) ABC Analysis is used in ________.
a) CPM
b) PERT
c) Inventory Control

B) Match the following. (any 5) [5]
Group A Group B

i) Production planning a) Economic order quantity
ii) EOQ b) Manufacturing process
iii) Plant Layout c) Controlling Cost
iv) Inventory Management d) Maximize projit
v) Supply chain management e) Quality control
vi) Quality management f) Delivery of Goods
vii) TQM g) Total Quality Management

Q2) Write short notes. (any two) [10]
a) Objectives of Production Control
b) Advantages of Plant Layout
c) Economic order Quantity
d) Modes of Transport

Q3) a) Explain in detail functions of production Management. [8]
b) Explain the various techniques used in plant Layout. [7]

Q4) a) Discuss the use of computers in inventory Management. [8]
b) Explain the various stages of supply chain Management. [7]


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[6142]-618
T.Y.B.Com.

BUSINESS ADMINISTRATION - III
366 (a) : Production and Operation Management - III
 (2019 Pattern) (Semester - VI) (Special Paper - III)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZnÌrH$m nhmdr.

P5932

à.à.à.à.à.1) A) ~hþn¶m©¶r àíZ. (H$moUVohr nmM) [5]
i) ............... EH$ {H«$¶m Amho Á¶mÛmao dñVy d godm§Mo CËnmXZ Ho$bo OmVo.

A) CËnmXZ
~) IaoXr
H$) {dnUZ

ii) CËnmXZ {Z{‘©VrgmR>r bmJUmam ‘hËdmMm KQ>H$ åhUOo ............. hmo¶.
A) {dÎm
~) H$ƒm ‘mb
H$) ¶§Ìgm‘J«r

iii) ‘mbgmR>m ‘mJUr doioMr JUZm H$aÊ¶mgmR>r Imbrbn¡H$s H$moUVo ‘m°S>ob dmnabo OmVo?
A) BH$m°Zm°{‘H$ Am°S>©a ¹$m§{Q>Q>r ‘m°S>ob ~) {’$³g Am°S>©a ³dm§{Q>Q>r ‘m°S>ob
H$) [aAm°S>©a nm°B§Q> ‘m°S>ob S>) {’$³g Am°S>©a BÝd|Q>ar ‘m°S>ob

iv) ................... hr g§km bm°{OpñQ>³g d JmoXm‘mgmR>r dmnabr OmVo.
A) E~rgr {díbofU ~) H«$m°g S>m°qH$J
H$) ìh°ë¶y MoZ à{H«$¶m S>) à{H«$¶m

v) ................. ho CËnmXZ à{H«$¶m gwYmaÊ¶mgmR>r Agboë¶m gmYZm§Mm d YmoaUm§Mm EH$
g§M Amho.
A) {g³g {g½‘m
~) JwUdÎmm ì¶dñWmnZ
H$) (A) (~) (H$) d{J©H$aU
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vi) ........... hm CËnmXZ {Z¶moOZ Am{U {Z¶§ÌUmMm H$Um Amho.
A) gm‘J«r JaO {Z¶moOZ
~) ‘mJUrMo Am{W©H$ J{UV
H$) ‘wë¶ gmIir {dVaU

vii) A ~ H$ {díbofU .................. gmR>r dmnabo OmVo.
A) gr.nr.E‘.
~) nr.B©.Ama.Q>r.
H$) gmR>m {Z¶§ÌU

~) OmoS>²¶m bmdm. (H$moUË¶mhr nmM) [5]
JQ> ‘A’ JQ> ‘~’

i) CËnmXZ {Z¶moOZ A) BH$moZm°{‘H$ Am°S>©a H$m°pÝQ>Q>r
ii) B.Amo.³¶w (EOQ) ~) CËnmXZ à{H«$¶m
iii) ¶§ÌHw$b H$) IM© {Z¶§ÌU
iv) ‘mbgmR>/ ì¶dñWmnZ S>) OmñVrMm Z’$m
v) {dVaU gmIir ì¶dñWmnZ B) JwUdÎmm {Z¶§ÌU
vi) JwUdÎmm ì¶dñWmnZ ’$) dñVy§Mo {dVaU
vii) Q>r.³¶w. E‘. (TQM) ¶) Q>moQ>b ³dmbrQ>r ‘°ZoO‘|Q>

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) CËnmXZ {Z¶§ÌUmMr C{Ôï>o
~) ¶§ÌHw$bmMo ’$m¶Xo
H$) ‘mJUrMo Am{W©H$ J{UV
S>) dmhVyH$sMo ‘mÜ¶‘

à.à.à.à.à.3) A) CËnmXZ ì¶dñWmnZmMr H$m¶} ñnï> H$am. [8]
~) ¶§ÌHw$bmMr {d{dY V§Ìo ñnï> H$am. [7]

à.à.à.à.à.4) A) ‘mbgmR>m ì¶dñWmnZoV g§JUH$s¶ Cn¶moJ g{dñVa ñnï> H$am. [8]

~) {dVaU gmIirMo Q>ßno g{dñVa ñnï> H$am. [7]


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Q1) A) Fill in the Blanks (Attempt any five) [5]
i) “Digital signature” is defined under _______ of IT Act, 2000?

a) Section 1 b) Section 2
c) Section 8 d) Section 6

ii) In which year India’s IT Act came into existence?
a) 2000 b) 2001
c) 2002 d) 2003

iii) ______ gets protection under section 85 of Negotiable Instrument
Act, 1881?
a) Collecting banker b) Paying banker
c) Issuing banker d) Both (a) and (b)

iv) Person availing banking services is called ________.
a) Banker b) Broker
c) Customer d) Trustee

v) The primary relationship between banker and customer is a _______
relationship.
a) Mutual b) Contractual
c) Personal d) None of the above

vi) Charge created on immovable property is called _________.

a) Mortgage b) Pledge

c) Hypothecation d) Lien

P.T.O.
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B) Match the following. [5]

i) Malware a) E - mail

ii) Spamming b) Gold Loan

iii) Phishing c) Vehicle Loan

iv) Pledge d) Stealing Data

v) Hypothecation e) Virus

Q2) Write Short Notes (any 2) [10]

a) Spamming.

b) Collecting banker.

c) Garnishee order.

d) Loan recovery problem.

Q3) a) Explain in duties and rights of paying banks. [8]

b) Explain the impact of Cybercrime on banking. [7]

Q4) a) Explain the banker and customer relationship as a debtor and creditor.[8]

b) Explain the types of loan schemes in banks [7]


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 (CBCS 2019Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àý Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àýmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r B§J«Or àýn{ÌH$m nhmdr.

P5933

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) Am¶Q>r H$m¶Xm, 2000 À¶m ................ ‘Ü¶o “{S>{OQ>b ñdmjar” Mr ì¶m»¶m Ho$br

Amho.

A) H$b‘ 1 ~) H$b‘ 2
H$) H$b‘ 8 S>) H$b‘ 6

ii) ^maVm‘Ü¶o IT H$m¶Xm H$moUË¶m dfu ApñVËdmV Ambm?

A) 2000 ~) 2001
H$) 2002 S>) 2003

iii) MbZj‘ XñVEodO H$m¶Xm 1881 À¶m H$b‘ 85 A§VJ©V .............. g§ajU {‘iVo.

A) dgwbr ~±Ho$bm ~) àXm¶r ~±Ho$bm

H$) Omar H$aUmar ~±Ho$bm S>) (A) Am{U (~) XmoÝhtZm

iv) ~±qH$J godm KoUmè¶m ì¶º$sbm ................... åhUVmV.

A) ~±H$ ~) Xbmb

H$) J«mhH$ S>) {dœñV

v) ~±H$ Am{U J«mhH$ ¶m§À¶mVrb àmW{‘H$ g§~§Y .................. g§~§Y Amho.

A) nañna ~) H§$ÌmQ>r

H$) d¡¶{º$H$ S>) darbn¡H$s H$mhrhr Zmhr
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vi) ñWmda ‘mb‘Îmoda bmJy Ho$boë¶m H$O©̂ mabm ............. åhUVmV.

A) JhmU ~) Vm~oJhmU

H$) ZOaJhmZ S>) YmaUm{YH$ma

~) OmoS²>¶m Owidm. [5]
i) ‘mbdoAa A) B© - ‘ob

ii) ñn°q‘J ~) JmoëS> bmoZ

iii) {’$qeJ H$) dmhZ H$O©

iv) Vm~oJhmU S>) S>oQ>m MmoaUo

v) ZOaJhmZ B) ìhm¶ag

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr 2) [10]

A) ñn°q‘J

~) dgwbr ~±H$

H$) Jm{Z©e Am°S>©a

S>) H$O© dgwbrMr g‘ñ¶m

à.à.à.à.à.3) A) àXm¶r ~±H$m§Mr H$V©ì¶o Am{U A{YH$ma ñnï> H$am. [8]

~) gm¶~a JwÝøm§Mm ~±H$ ì¶dgm¶mda hmoUmam n[aUm‘ ñnï> H$am. [7]

à.à.à.à.à.4) A) F$UH$mo Am{U YZH$mo ¶mÑï>rZo ~±H$ Am{U J«mhH$ ¶m§À¶mVrb g§~§Y ñnï H$am. [8]

~) ~±H$m§‘Yrb H$O© ¶moOZm§Mo àH$ma ñnï> H$am. [7]





Total No. of Questions : 3]

[6142]-620
T.Y.B.Com.

366 (C) : BUSINESS LAW & PRACTICES - III
 (CBCS 2019Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

P5934 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blank with the most appropriate alternative. (Any 5) [5]
i) After declaration of dividend it should be paid within _______.

(14 days, 21 days, 30 days)

ii) As per Companies Act 2013, Every company to prepare and keep
the books of account and other relevant books and papers and
financial statement in its _________.

(Registered office, Branch office, Zonal office)

iii) The books of accounts of every company shall be maintained in
order for _______.

(3 years, 5 years, 8 years)

iv) First auditor is to be appointed by ________.

(Government, Shareholders, Board of Directors)

v) Minimum number of directors in the case of a public company is
______ directors.

(2, 3, 5)

vi) DIN stands for ________ in company.
(Director Index Number, Director Identification Number, Director
Identity Number)

P.T.O.
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B) Match the following. [5]

Column A Column B

i) Dividend declared but not paid a) Comptroller & Auditor
General of India

ii) Internal Auditor b) Final Dividend

iii) Auditor of Government c) One Director

Company

iv) Dividend declared at the Annual d) Unpaid Dividend

         General Meeting

v) One Person Company e) Chartered/Cost
Accountants

Q2) Write a short notes (any 2) [10]

a) Types of Dividend.

b) Types of accounts to be maintained by Company.

c) Qualification of Auditor.

d) Manner of selection of independent directors.

Q3) a) Define Dividend. Explain the provisions related to declaration & payment
of dividend. [8]

b) What is meant by Internal Audit as per Section 138 of Companies Act,
2013? [7]

Q4) a) Explain the powers and duties of Auditor. [8]

b) Explain the disqualifications of Director. [7]


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(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àý A{Zdm¶© AmhoV.
2) COdrH$S>o {Xbobr g§»¶m nyU© JwU Xe©dVmV.

P5934

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr 5) [5]

i) bm^m§e Kmo{fV Ho$ën¶mZ§Va .............. {XdgmV bm^m§e {Xbm nm{hOo.

(14 {Xdg, 21 {Xdg, 30 {Xdg)

ii) H§$nZr H$m¶Xm 2013 Zwgma, àË¶oH$ H§$nZrZo Ë¶mÀ¶m ................... ‘Ü¶o ImË¶mMr
nwñVHo$ Am{U BVa g§~§{YV nwñVHo$ Am{U H$mJXnÌo Am{U Am{W©H$ {ddaU V¶ma H$aUo
Am{U R>odUo

(Zm|XUrH¥$V H$m¶m©b¶, emIm H$m¶m©b¶, joÌr¶ H$m¶m©b¶)

iii) àË¶oH$ H§$nZrÀ¶m {heo~mMr nwñVHo$ .............. dfmªgmR>r ì¶dpñWV R>odbr OmVmV.

(3 df}, 5 df}, 8 df})

iv) àW‘ boImnarjH$ ................. Ûmao {Z¶wº$ Ho$bo OmVrb.

(gaH$ma, ^mJYmaH$, g§MmbH$ ‘§S>i)

v) gmd©O{ZH$ H§$nZrÀ¶m ~m~VrV {H$‘mZ g§MmbH$m§Mr g§»¶m ............. AgVo.

(2, 3, 5)

vi) H§$nZr‘Ü¶o S>rAm¶EZ åhUOo .............

(S>m¶ao³Q> B§S>o³g Z§~a, S>m¶ao³Q>a Am¶S>|{Q>{’$Ho$eZ Z§~a, S>m¶ao³Q>a Am¶S>|{Q>Q>r Z§~a)
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~) ¶mo½¶ OmoS>²¶m Owidm. [5]
aH$mZm A aH$mZm ~

i) Kmo{fV Ho$bobm na§Vw dgyb Z A) ^maVmMo {Z¶§ÌH$ Am{U ‘hmboImnarjH$
Pmbobm bm^m§e

ii) A§VJ©V A§Ho$jU ~) A§{V‘ bm^m§e
iii) gaH$mar H§$nZrMo A§Ho$jH$ H$) EH$ g§MmbH$
iv) dm{f©H$ gd©gmYmaU g ôV Kmo{fV  S>) AXm Z Ho$bobm bm^m§e

Ho$bobm bm^m§e
v) EH$ ì¶º$s H§$nZr B) MmQ>©S>© AH$mD$ÝQ>Q>/H$m°ñQ> AH$mD$ÝQ>Q>

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr 2) [10]

A) bm^m§emMo àH$ma

~) H§$nZrÛmao XoI^mb H$amd¶mÀ¶m ImË¶m§Mo àH$ma

H$) boImnarjH$mMr nmÌVm

S>) ñdV§Ì g§MmbH$m§À¶m {ZdS>rMr nÕV ñnï> H$am.

à.à.à.à.à.3) A) bm^m§e ì¶m»¶m Úm. bm^m§e Kmo{fV Am{U ^aÊ¶mer g§~§{YV VaVwXr ñnï> H$am. [8]

~) H§$nZr H$m¶Xm, 2013 À¶m H$b‘ 138 Zwgma A§VJ©V Am°{S>Q> åhUOo H$m¶? [7]

à.à.à.à.à.4) A) boImnarjH$mMo A{YH$ma Am{U H$V©ì¶o ñnï> H$am. [8]

~) g§MmbH$mMr AnmÌVm ñnï> H$am. [7]


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Q1) A) Fill in the blanks (Any five) [5]
i) Financial management is the basic function of ______ manager

a) Purchase

b) Sales

c) Finance

ii) ______ is the duty of finance manager

a) Financial Planning

b) Cost Planning

c) Other

iii) ______ is the forecast of financial planning.

a) Budget

b) Cash book

c) Balance sheet

iv) Statutory Audit is _______ to society.

a) Compulsory

b) Voluntary

c) Optional

P.T.O.
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v) Auditor is given ______ Report to society.
a) Audit
b) Examination
c) Financial

vi) Audit Report is submitted by _______ to members.
a) Manager
b) Auditor
c) Promoter

B) Match the following. [5]
 ‘A’  ‘B’

a) Financial management i) Source of finance
b) Contribution of members ii) Report by Auditor
c) Utilisation of funds iii) Financial control
d) Duty of Auditor iv) Cooperative Society
e) Audit Report v) Sign on Audit Report

Q2) Write Short Notes (any two) [10]
a) Estimation of financial Requirement.
b) Need for financial control.
c) Duties of co-operative Auditor.
d) Nature of co-operative Audit.

Q3) a) Explain the nature of financial management. [8]
b) State the budget and Accounting of co-operatives. [7]

Q4) a) State the policy of operating expenditure in co-operatives. [8]

b) State the significance of co-operative Audit. [7]


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[6142]-621
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366 (D) : CO-OPERATION AND RURAL DEVELOPMENT-III
 (CBCS 2019Pattern) (Semester - VI) (Special Paper - III)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P5935

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) {dÎmr¶ ì¶dñWmnZmV .......... ho {dÎmr¶ ì¶dñWmnZmMo ‘w»¶ H$m¶© Amho.

A) IaoXr

~) {dH«$s

H$) {dÎm

ii) .................. hr {d{Îm¶ ì¶dñWmnH$mMo H$V©ì¶ Amho.

A) {d{Îm¶ {Z¶moOZ

~) IM© {Z¶moOZ

H$) BVa H$m¶©

iii) ................ ho {d{Îm¶ {Z¶moOZmMo nwdm©Zw‘mZ Amho.

A) A§XmO nÌH$

~) amoI nwñVH$

H$) Vmio~§X

iv) d¡Ym{ZH$ A§Ho$jU ho gmogm¶Q>r gmR>r ....................... Amho.

A) gº$sMo

~) EopÀN>H$

H$) n¶m©¶r

v) A§Ho$jH$ gmogm¶Q>rbm ............ Ahdmb XoVmo.

A) A§Ho$jU

~) n[ajm

H$) {d{Îm¶
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vi) A§Ho$jU Ahdmb hm .............. X²dmao gmXa Ho$bm OmVmo.

A) ì¶dñWmnH$

~) A§Ho$jH$

H$) àdV©H$

~) ¶mo½¶ OmoS²>¶m Owidm. [5]
‘A’ ‘~’

i) {d{Îm¶ ì¶dñWmnZ A) {d{Îm¶ ómoV

ii) g^mgXm§Mo ¶moJXmZ ~) A§Ho$jH$mX²dmao Ahdmb

iii) ’§$S>{M {d{Z¶moJ ({ZYr) H$) {dÎmr¶ {Z¶§ÌU

iv) A§Ho$jH$mMo H$V©ì¶ S>) ghH$mar gmogm¶Q>r

v) A§Ho$jU Ahdmb B) A§H$joU Ahdmbm§da ghr H$aUo

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) {dÎmr¶ JaOm§Mm A§XmO

~) {dÎmr¶ {Z¶§ÌUmMr JaO

H$) ghH$mar A§Ho$jH$mMr H$V©ì¶o

S>) ghH$mar A§Ho$jUmMo ñdê$n

à.à.à.à.à.3) A) {dÎmr¶ ì¶dñWmnZmMo ñdê$n ñnï> H$am. [8]

~) ghH$mamVrb A§XmOnÌH$ Am{U boIm§H$Z gm§Jm. [7]

à.à.à.à.à.4) A) ghH$mamVrb X¡Z§XrZ IM©{df¶H$ YmoaU gm§Jm. [8]

~) ghH$mar A§Ho$jUmMo ‘hËd ñnï> H$am. [7]





1[6142]-622

Total No. of Questions : 4]

[6142]-622
T.Y.B.Com.

 COST AND WORKS ACCOUNTING - III
366 (E) : Techniques of Cost Accounting and Cost Audit

(2019 CBCS Pattern) (Semester -VI)
Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicates full marks.

P5936 [Total No. of Pages : 4
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Q1) A) Fill in the blanks (Attempt Any 5) [5]
a) Standard cost is a carefully _______ cost which is prepared for

each cost unit.
i) Predetermined
ii) Absorbed
iii) Apportioned

b) Target costing = Selling price (-) _______.
i) Cost
ii) Revenue
iii) Profit margin

c) Time ______ is done to ascertain Labour cost.
i) Records
ii) Booking
iii) Controlling

d) ______ standard deals with the principles and methods of
determining the material cost.
i) CAS - 6
ii) CAS - 7
iii) CAS - 3

e) Cost Accounting Records, both monetary and ________ units.
i) Physical
ii) Cost
iii) Both (i) and (ii)

P.T.O.
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f) XBRL is used by ________.

i) Government

ii) Accountants

iii) Both (i) and (ii)

B) Match the following. [5]

Group A Group B

a) CAS - 7 i)     Profitability Audit

b) High price and high profits ii) Employee cost
c) Cost Audit iii)     Skimming Pricing

d) Maximum support price (MSP) iv) Verification and
correctness of cost
Records

e) Efficiency Audit v) Introduced by
Government to
support farmers

Q2) Write short notes on the following (Any 2) [10]

a) Advantages of standard costing.

b) Pricing Policy.

c) Idle Time.

d) Cost Records.

Q3) a) From the following cost data available by Bajaj Limited, Compute the
following material variances. [8]

i) Material cost variance

ii) Material price variance

iii) Material usage variance

iv) Also verify your results
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The standard cost shows the following details relating to the materials
needed to produce one kg of chemical

Quantity of chemical Required :-  3kg

Price of chemical :-  Rs 2.50 per kg

Actual production Data :-

Production during the week :-  1000 kg

Quantity used :-  3500kg

Price of chemical per kg :-  Rs 3

b) From the following details calculate, [7]

i) Labour cost variance

ii) Labour Rate variance

iii) Labour Efficiency variance

iv) Also verify your results

The standard time for unit component X are given below

Standard Hours per unit :-  15 Hours

Standard Rate :-  Rs 4 per Hour

The actual data and related information are as under:

Actual Production :-   1000 units

Actual Hours :-   15300 Hours

Actual Rate :-   Rs 3.90 per Hour
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Q4) a) Femina limited produces certain consumer product which has the marginal
cost and selling price [8]
structure as follows :- Rs.
Direct material cost 40
Productive wages 10
Variable works overheads 04
Market price 90
During the current year 2021-22, total turnover are expected to be
Rs .13,50,000 with a fixed Administration and selling overheads amounting
to Rs. 1,40,000.
From the beginning of the next year, it is expected that
i) Direct materials cost to increase by 7.5%
ii) Productive wages to increase by 10%
iii) Variable works overheads to increase by 50%
iv) Fixed Administration and selling overheads to increase by Rs 6000/-
You are required to calculate :-
1) The new selling price if the current p/v ratio is to be maintained and
2) The number of units to be sold during the next year to yield the

similar profit as per the current year assuming that the selling price
to remain Rs 90/- only

b) Write the objectives of cost Audit [7]





Q1) a) Fill in the blanks of the followings (any five) [5 × 1 = 5]

i) Longest possible time to complete the activity is known as ______
time in PERT.

ii) CPM is ________ model.

iii) ______ is a method of imitating the real system with artificial data
using computers.

iv) In queuing theory. Interarrival service times follows ______
distribution.

v) We can maximize profit function by using computation of ______
function.

vi) For cost function C(x), ( ) 0d cx
dx

  is the condition that can be

determined as _______ function.

b) State whether each of the following statements are true or false (any five)
[5 × 1 = 5]

i) PERT is deterministic model.

ii) For project, we can get only one critical path.

iii) In simulation random sample is drawn just by specifying the average
without using a statistical model.

Total No. of Questions : 4]
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iv) In queuing theory system means only the process of waiting in a
queue.

v) The calling population is always finite.

vi) The cost function C for output X is given by C = X2 – 4X + 6 then
fixed cost is zero.

Q2) Attempt any two of the following  : [2 × 5 = 10]
a) Explain the following terms :

network, simulation, queue discipline, cost function, Revenue function.

b) Explain the following terms :

Optimistic time in PERT, expected duration of project, disadvantages of
simulation, traffic intensity, average cost.

c) If C(x) = 31x4 + 12x2 – 71x + 12 is the manufacturer's total cost equation,
then find the, average cost, fixed cost, variable cost, marginal cost.

d) Explain the minima and maxima function with an illustration.

Q3) a) The following table gives the activities in a project and other relevant
information : [8]
Activity 1-2 1-4 1-3 2-5 3-5 3-6 4-6 5-7 6-7

Duration 3 4 5 2 3 7 9 8 9

Find earliest start, earliest finish, latest start, latest finish total float, free
float and independent float for each activity. Also find critical path.

b) Workers come to a tool store room to inquire about the special tools for
a particular job. Customers arrive at the store have poisson distribution
with average rate of 30 customers per hour. The average service time is
minute and a half per customer. [7]
Find i) average queue length

ii) average waiting time of workers in the queue.

iii) expected no. of workers in the system.

iv) probability that customer wait at least 12 minutes in the queue.

v) expected percentage of customers who wait at least 6 minutes
in queue.
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Q4) a) A project has the following activities and other characteristics : [8]

Activity Time estimates

to tp tm

1-2 6 24 6

1-3 6 18 12

1-4 12 30 12

2-5 6 6 6

3-5 12 48 30

4-6 12 42 30

5-6 18 54 30

i) Draw the project network and calculate the length and variance of
the critical path.

ii) What is the probability that project will be completed within 80
days?

b) Following is the probability distribution of daily demand of cakes. [7]

Demand of cake 0 10 20 30 40 50

Probability 0.01 0.20 0.15 0.50 0.12 0.02

Using random numbers given below estimate demand of cake for next
10 days : 25, 39, 65, 76, 12, 05, 73, 89, 19, 49. Also find average daily
demand of cake.





Q1) A) Fill in the blanks (Attempt any 5 out of 6) : [5]

i) A ________ is a group of people working to achieve the same
goal.

a) Team

b) Process

c) Management

ii) __________ is an activity designed to motivate members of a
group to get to know and respect each other.

a) Team Building

b) Process Building

c) Management Building

iii) _________ management in entrepreneurship is the process of
limiting the negative aspects while increasing the positive aspects.

a) Conflict

b) Stress

c) Harmony

iv) _________ conflict is when conflict between groups inside and
outside an organisation disagree on various issues.

a) Intrapersonal

b) Intragroup

c) Intergroup
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v) __________ is an important element in a successful work place.

a) Motivation

b) Deterrent

c) Discouragement

vi) _________ marketing is also called online marketing.

a) Digital

b) Offline

c) Physical

B) Match the following : [5]

i) Team building a) Interpersonal

ii) Conflict b) Achievement Theory

iii) Interpersonal conflict c) E-mail marketing

iv) McClelland’s theory d) Conflict due to differences in
goals

v) Digital Marketing e) Creative thinking

Q2) Short notes (any two out of four) : [10]

a) Types of Teams

b) Measures to reduce stress in the workplace

c) Job rotation

d) Types of Digital Marketing

Q3) a) Difference between work groups and teams. [8]

b) What are the sources of stress in entrepreneurship. [7]

Q4) a) What is motivation? Explain the techniques of motivation. [8]

b) Explain the role of digital marketing in entrepreneurship. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (ghmn¡H$s H$moUË`mhr nmM gmoS>dm) … [5]

i) ................ åhUOo g_mO C{X²Yï>ço gmÜ` H$aÊ`mgmR>r H$m ©̀aV AgUmè`m bmoH$m§Mm
g_yh hmò .

A) g§K

~) à{H«$`m

H$) ì`dñWmnZ

ii) ................ hm Agm EH$ CnH«$_ Amho {H$ Omo g_whm_{Yb gXñ` EH$_oH$m§Zm
OmUyZ KoÊ`mgmR>r Am{U Ë`m§Mm AmXa H$aÊ`mg àd¥Îm H$aÊ`mgmR>r V`ma Ho$bobo
H$m ©̀H«$_ AmhoV.

A) g§K ~m§YUr

~) à{H«$`m ~m§YUr

H$) ì`dñWmnZ ~m§YUr

iii) CÚmoJmVrb .............. ì`dñWmnZ hr gH$mamË_H$ n¡by dmT>dVmZm ZH$mamË_H$
n¡by _`m©{XV H$aÊ`mMr à{H«$`m Amho.

A) g§Kf©

~) VmU

H$) gwg§dmX
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iv) ............... g§Kf© åhUOo Ooìhm g§ñWoÀ`m AmV Am{U ~mhoarb JQ>m§_Yrb g§Kf©
{d{dY _wÚm§da Agh_V AgVmo.
A) Am§Vad¡`{º$H$
~) Am§Va-g_yh
H$) Am§VaJQ>

v) `eñdr H$m_mÀ`m {R>H$mUr .............. hm EH$ _hËdmMm KQ>H$ Amho.
A) àoaUm
~) à{V~§YH$
H$) {Zê$Ëgmh

vi) .................. {dnUZmbm Am°ZbmB©Z {dnUZ Aghr åhUVmV.
A) {S>OrQ>b
~) Am°\$bmB©Z
H$) ^m¡{VH$

~) OmoS>çm bmdm. [5]
i) Q>r_ {~pëS>¨J A) nañna
ii) g§Kf© ~) g§nmXZ {gÕm§V
iii) nañna g§Kf© H$) B©_ob {dnUZ
iv) S>opìhS> _¡¡Šbob±S> S>) Ü ò̀ m§_{Yb \$aH$m§_wio g§Kf©
v) {S>OrQ>b _mH}$qQ>J B) {H«$ ò{Q>ìh qWH$s¨J

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm (H$moUË`mhr XmoZ) [10]
A) g§KmMo àH$ma
~) H$m_mÀ`m {R>H$mUr VUmd H$_r H$aÊ`mgmR>r Cnm`
H$) ZmoH$arVrb ~Xb {\$a{dUo
S>) {S>OrQ>b {dnUZmMo àH$ma

àíZ àíZ àíZ àíZ àíZ 3) A) g_yh Am{U g§K `mVrb \$aH$ [8]
~) CÚmoOH$Vo _Ü ò VUmdmMo òmoV H$moUVo AmhoV. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) àoaUm åhUOo H$m`? àoaUmMo V§Ì ñnï> H$am. [8]
~) CÚmoOH$Vo _Ü ò {S>{OQ>b {dnUZmMr ŷ{_H$m ñnï> H$am. [7]





Q1) A) Fill in the Blanks (Any five) : [5]
i) Marketing ________ is systematic planning and policy.

a) Marketing Environment b) Marketing Control
c) Marketing Audit d) Marketing News

ii) Due to ________ there is flexibility in daily routine work of a
company.
a) Marketing Environment b) Marketing Control
c) Marketing Audit d) Marketing News

iii) Customer is a king of market and he will satisfy if he get.
a) Satisfaction b) Loyalty
c) Relation d) Customer Growth

iv) If is important that the ________ component be attractive for
advertising to be perfect.
a) Design b) Advertising media
c) Printing d) Trade mark

v) In _______ includes online buying & selling as well as financial
business deals.
a) E-mail b) Website
c) E-Business d) E-Commerce

vi) _______ Exchange is an important measure of give & take through
social media.
a) Printing b) Design
c) Message d) Media
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B) Match the following : [5]

i) Technical support and budget a) Social media

ii) Shine and movement b) Techniques of marketing control

iii) You-tube, Telegram, Face Book c) Industrial Elements

iv) Credit and Budgetary control d) Principles of Design

v) Popular ringing of bells e) Historical social media
and loud speaker

Q2) Write short notes (Any Two) : [10]

a) Quality oriented components in service marketing.

b) Characteristics of copywriting.

c) Historical Background of social media.

d) Importance of marketing control.

Q3) a) Explain the Appeals of service marketing in detail. [8]

b) Explain strategy of advertising creation in detail. [7]

Q4) a) Explain the characteristics of social media marketer. [8]

b) Explain the techniques of marketing control. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) _mH}$qQ>JÀ`m `moOZm d YmoaUm§Mm nÕV{eanUo AmT>mdm åhUOo ........... hmò .

A) {dnUZ n`m©daU ~) {dnUZ {Z §̀ÌU
H$) {dnUZ A§Ho$jU S>) {dnUZ g_mMma

ii) H§$nZrÀ`m X¡Z§{XZ H$m_H$mOm_Ü ò ............. _wio bd{MH$Vm àmá hmoVo.
A) {dnUZ n`m©daU ~) {dnUZ {Z §̀ÌU
H$) {dnUZ A§Ho$jU S>) {dnUZ g_mMma

iii) J«mhH$ hm ~mOmanoR>oMm amOm Amho, Ë`m_wio J«mhH$m§Zm Ano{jV godm{Xë`mg .........
àmá hmoVo.
A) J«mhH$ g_mYmZ ~) J«mhH$ {Zð>m
H$) J«mhH$ g§~§Y S>) J«mhH$ d¥Õr

iv) Om{hamV n[anyU© hmoÊ`mgmR>r ................. hm KQ>H$ AmH$f©H$ AgZo _hËdmMo
AgVo.
A) AmH¥$Vr ~) Om{hamV _mÜ`_o
H$) _wÐU S>) ì`mnma {MÝho

v) ................ ̀ m KQ>H$mV Am°ZbmB©Z IaoXr-{dH«$sMo, Am{W©H$ VgoM - ì`mdgm{`H$
H$ama Ho$bo OmVmV.
A) B©-_ob ~) do~gmB©Q>
H$) B©-{~PZog S>) B©-H$m°_g©

vi) ............... {d{Z_` ho gm_m{OH$ _mÜ`_mÛmao XodmU-KodmU H$aÊ`mMo EH$ _hËdmMo
gmYZ åhUyZ AmoiIbo OmVo.
A) _wÐZ ~) AmH¥$Vr
H$) g§Xoe S>) _mÜ`_

3 P.T.O.
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~) OmoS>çm Owidm. [5]

i) V§ÌkmZmMr OmoS> d IMm©Mo A§XmOnÌH$ A) gm_m{OH$ _mÜ`_o

ii) M_H$ d hmbMmb ~) E¡{Vhm{gH$ gm_m{OH$ _mÜ`_o

iii) ỳQ>çy~, Q>o{bJ«m_, \o$g~wH$ H$) CÚmoJg_yh KQ>H$

iv) nV{df`H$ d A§XmOnÌH$ {Z §̀ÌU S>) AmH¥$Vr{df`H$ VËdo

v) bmoH${à` K§Q>mZmX d ^m|Jo> B) {dnUZ {Z §̀ÌU V§Ìo

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) godm {dnUZmVrb JwUdÎmm / H$m¡eë`{df`H$ KQ>H$

~) H$m°nramB©Q>aMr d¡{eï>ço

H$) gm_m{OH$ _mÜ`_m§Mr E¡{Vhm{gH$ nmíd©̂ y_r

S>) à^mdr {dnUZ {Z §̀ÌU nÕVrMo _hËd

àíZ àíZ àíZ àíZ àíZ 3) A) godm {dnUZmg_mo[ab AmìhmZo g{dñVa ñnï> H$am. [8]

~) Om{hamV {Z{_©Vr ì ỳhaMZoMo Q>ßno g{dñVa ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) gm_m{OH$ _mÜ`_ {dnUH$mMr d¡{eï>ço ñnï> H$am. [8]

~) {dnUZ {Z §̀ÌUmMr V§Ìo ñnï> H$am. [7]





Q1) a) Fill in the blanks : [5]

i) Centralization of Industries leads to regional __________ in India.

(Balance, imbalance, sustainability, rural development)

ii) Payment of wages act was passed in ___________.

(1930, 1939, 1942, 1936)

iii) MSP protects the interest of __________.

(Consumers, Farmers, investors, corporates)

iv) The Industrial dispute act was passed in ____________.

(1945, 1968, 1991, 1947)

v) The __________ determine the agricultural cost and price.

(SBI, RBI, CACP, Cooperatives)

vi) Agricultural prices in India are ____________.

(Uncertain, certain, constant, stable)

b) Match the following : [5]

i) CACP a) Support to agricultural
produce

ii) National agricultural policy b) 1965

iii) MSP c) 1948

iv) Payment of Bonus act d) 2000

v) Minimum wages act e) Cost and price determination
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Q2) Write a short notes (any 2 out of 4) : [10]

a) Minimum support price

b) Need of agricultural policies

c) Causes of Regional industrial imbalance

d) Commission for agricultural cost & price

Q3) a) Explain the features of Industrial dispute act. [8]

b) Explain the cost concepts of CACP. [7]

Q4) a) Explain the need of agricultural price policy. [8]

b) Describe the broad features of minimum wages act-1948. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. [5]

i) ^maVm_Ü ò CX`moJm§Mo H|${ÐH$aU ................... bmàmoËgm{hV H$aVo.

(g_Vmobmg, Ag_Vmobmg, emídVVog, J«m_rU {dH$mgmg)

ii) doVZ AXm`Jr H$m`Xm .................. `mdfu g§_V H$aÊ`mV Ambm.

(1930, 1939, 1942, 1936)

iii) {H$_mZ AmYma ŷV qH$_Vr ................... Mo {hV g§ajU H$aVmV.

(J«mhH$, eoVH$ar, Jw§VdUyH$aXma, ì`mdgm{`H$)

iv) Am¡X²̀ mo{JH$ {ddmX H$m`Xm ................. _Ü ò g§_V H$aÊ`mV Ambm.

(1945, 1968, 1991, 1947)

v) H¥$fr IM© d {H$_Vr `m§Mr {ZpíMVr ................. H$aVo.

(Eg~rAm`, Ama~rAm`, grEgrnr, ghH$mar g§ñWm)

vi) ^maVm_Ü`o H¥$fr qH$_Vr ................... AmhoV.

(Am{ZpíMV, {ZpíMV, pñWa, ñW¡̀ ©)

~) OmoS>çm bmdm. [5]

i) grEgrnr A) H¥$fr CËnmXZmg AmYma

ii) amï´>r` H¥$fr YmoaU ~) 1965

iii) E_Egnr H$) 1948

iv) doVZ AXm`Jr H$m`Xm S>) 2000

v) {H$_mZ doVZ H$m`Xm B) IM© d qH$_V {ZpíMVr
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àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm (H$moUË`mhr 2) … [10]

A) {H$_mZ AmYma ŷV {H$_Vr

~) H¥$fr {df`H$ YmoaUm§Mr Amdí`H$Vm

H$) àmXo{eH$ Am¡X²̀ mo{JH$ Ag_VmobmMr H$maUo

S>) H¥$fr IM© d qH$_V Am`moJ

àíZ àíZ àíZ àíZ àíZ 3) A) Am¡X²̀ mo{JH$ {ddmX H$m`XçmMr d¡{eï>ço ñnï> H$am. [8]

~) grEgrnrÀ`m IM© {df`H$ g§H$ënZm ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) H¥$fr {df`H$ qH$_V YmoaUmMr JaO ñnï> H$am. [8]

~) {H$_mZ doVZ H$m`Xm-1948 Mr R>iH$ d¡{eï>ço {deX H$am. [7]





Q1) Attempt any Five of the following : [5 × 2 = 10]

a) Define defence expenditure.

b) Define defence forces.

c) What is war potential?

d) Define industrial capacity.

e) State the effect of war.

f) What is post war problem?

Q2) Attempt any four of the following : [5 × 4 = 20]

a) Defence budget

b) Indigenisation of armed forces

c) Challenges in defence

d) Industrial capacity

e) Raw material
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Explain linkages between planning and budget.

b) Explain in new trends in Indian defence expenditure.

c) Explain analysis of defence expenditure since 1998

d) Explain foreig aid as a contributory element of war potential.

e) Explain industrial capacity as a element of war potential.

Q4) Attempt any two of the following : [2 × 10 =10]

a) Explain in detail impact of expenditure on Defence forces.

b) Explain in details challenges in defence and financial management.

c) Explain in detail new trends in Indian defence expenditure.


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àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) g§ajU IM© ì¶m»¶m {bhm.

~) goZmXbo ì¶m»¶m {bhm.

H$) ¶wÕ J{V‘mZVm åhUOo H$m¶?

S>) Am¡Úmo{JH$ j‘Vm ì¶m»¶m H$am.

B) ¶wÕmMo n[aUm‘ ñnï> H$am.

’$) ¶wÕmoÎma g‘ñ¶m {bhm.

àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) g§ajU IM©

~) goZmXbm§Mo ^maVr¶H$aU

H$) g§ajUmVrb AmìhmZo

S>) Am¡Úmo{JH$ j‘Vm

B) H$ƒm ‘mb

3 P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) {Z¶moOZ Am{U g§ajU IM© ¶mVrb g§~§Y ñnï> H$am.

~) g§ajU IMm©Vrb ZdrZ àdmh ñnï> H$am.

H$) 1998 Z§VaÀ¶m g§ajU IMm©Mo {díbofU H$am.

S>) ¶wÕ J{V‘mZVoVrb naH$s¶ ghH$m¶m©Mo KQ>H$ ñnï> H$am.

B) Am¡Úmo{JH$ j‘Vm ¶wÕ J{V‘mZVoMm EH$ KQ>H$ ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) g§ajU goZmXbmdarb IMm©Mo n[aUm‘ g{dñVa ñnï> H$am.

~) g§ajU Am{U ’$m¶ZmpÝe¶b ‘°ZoO‘|Q> darb AmìhmZo g{dñVa ñnï> H$am.

H$) ^maVr¶ g§ajU IMm©Vrb ZdrZ àdmh g{dñVa ñnï> H$am.





Q1) A) Fill in the Blanks (Attempt any 5). [5]
i) A bonafide certificate is issued to the people who travel to _____

and _______.
a) Nepal and China
b) Nepal and Bhutan
c) Nepal and Bangladesh

ii) ________ provide emergency assistance to citizens in distress.
a) Embassy
b) Agent
c) Tour operator

iii) Indian Government is marketing India as a tourist destination through
the _______ advertisement campaign.
a) Credible India
b) Incredible India
c) Getway to backwater

iv) ________ means a pre arrangement, prepaid trip that combines
two or more travel components like airfare, airport transfer,
accommodation and other services.
a) Tour management
b) Tour Development
c) Tour Package
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v) A small, local restaurant has decided to advertise its elegant
atmosphere and qualified wait staff. This approach is example of
_______ marketing.
a) Service
b) Product
c) Development

vi) The process of selling of a product through publicity is called
________.
a) Direct mail
b) Indirect mail
c) Promotion

B) Match the Following : [5]
i) Circle Itinerary a) Ends in different places
ii) Open-jaw itinerary b) Brings travellers back to their

starting point.
iii) Hub-and-spoke itinerary c) Pay for their own meals.
iv) Accommodations d) Base at a hotel in one city
v) Meals e) Parking for the motor coach

Q2) Write Short notes (Any 2). [10]
a) Significance of tour package
b) Distribution system
c) Pre-departure meeting
d) Post-tour activities

Q3) a) Describe components of tour package. [8]
b) Explain market segmentation and target market. [7]

Q4) a) State the significance of Tour manager briefing. [8]
b) Explain in detail Arrival procedure. [7]





[6142]-628 3

Total No. of Questions : 4]

[6142]-628
T.Y. B.Com. (Semester - VI)

TOURISM
366(K) : Insurance, Transport and Tourism (Paper - III)

(2019 Pattern)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 50
gyMZm :

1) gd© àý gmoS>{dUo A{Zdm ©̀$ Amho.
2) COdrH$S>rb A§H$ àýmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r B§J«Or àýn{ÌH$m nhmdr.

P-5942

P.T.O.

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJr `mo½` eãX {bhm. (H$moUVohr nmM) [5]
i) ...... Am{U ........ R>rH$mUr àdmg H$aUmè`m§Zm ~moZm\$mB©S> à_mUnÌ {Xbo OmVo.

A) Zonmi Am{U MrZ
~) Zonmi> Am{U ŵVmZ
H$) Zonmi Am{U ~m§JbmXoe

ii) g§H$Q>mV Agboë`m ZmJarH$m§Zm AmnËH$mbrZ _XV .......... XoVo.
A) XþVmdmg
~) EO§Q>
H$) Qy>a Am°naoQ>a

iii) ^maV gaH$ma ....... Om{hamV _mo{h_oÛmao n ©̀Q>ZñWi åhUyZ ^maVmMo _mH}$qQ>J H$arV
Amho.
A) {dídmgmh© ^maV
~) A{dídgZr` ̂ maV
H$) ~°H$dm°Q>a JoQ>do

iv) ........... åhUOo AmJmD$ {Z`moOZ, àrnoS> {Q´>n Á`m_Ü ò XmoZ qH$dm A{YH$ àdmgr
KQ>H$ Ogo H$s {d_mZ ^mS>o, {d_mUVi hñVm§VaU, {Zdmg Am{U BVa godm EH${ÌV
Ho$ë`m OmVmV.
A) ghbrMr ì`dñWm
~) Xm¡am /Qw>a {dH$mg
H$) Qy>a n°Ho$O
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v) EH$m bhmU ñWm{ZH$ aoñQ>m°a§Q>Zo Amnë`m _mohH$ dmVmdaUmMr Am{U nmÌ àVrjm
H$_©Mmè`m§Mr OmhramV H$aÊ`mMm {ZU©̀  KoVbm Amho. hm Ñï>rH$moZ ....... {dnUZmMo
EH$ CXmhaU Amho.
A) godm
~) CËnmXZ
H$) {dH$mg

vi) à{gÕrÛmao EImÚm CËnmXZmMr {dH«$s H$aÊ`mÀ`m à{H«$ òg ......... åhUVmV.
A) WoQ> _ob
~) AàË`j _ob
H$) OmhramV

~) `mo½` OmoS>çm Owidm. [5]
i) dVw©i àdmg H$m ©̀H«$_ A) doJdoù`m {R>H$mUr g_má hmoVmo
ii) AmonZ-Om° àdmg H$m ©̀H«$_ ~) àdmem§Zm Ë`m§À`m àma§̂  q~Xÿda àíV AmUVo
iii) h~ Am{U ñnmoH$ àdmgmMm H$) ñdV…À`m OodUmgmR>r n¡go Xçm

H$m`©H«$_
iv) amhÊ`mMr gmò S>) EH$mM ehamVrb hm°Q>obMm AmYma
v) OodU B©) _moQ>ma JmS>rgmR>r nm{Hª$J

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm (H$moUVohr XmoZ) [10]
A) Qw>a n°Ho$OMo _hËd
~) {dVaU àUmbr
H$) {ZJ©_Znwd© ~¡R>H$
S>) n ©̀Q>ZmZ§VaMo CnH«$_

àíZ àíZ àíZ àíZ àíZ 3) A) Qy>a n°Ho$OÀ`m KQ>H$m§Mo dU©Z H$am. [8]
~) ~mOma {d^mOZ Am{U bj ~mOma ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) Qy>a _°ZoOa ~«rq\$JMo _hËd gm§Jm. [8]
~) AmJ_Z à{H«$ òMo Vnerbdma dU©Z H$am. [7]





Q1) A) Fill in the blanks (Any 5 out of 6) : [5]

i) Entity Relationship diagram shows the relationship of entity sets
stored in a __________

a) file b) card

c) hard copy d) database

ii) Data dictionary contains ___________ i.e. data about the database.

a) case study b) design

c) metadata d) output

iii) _____________ represents hierarchical structure of modules.

a) Logic b) Data flow

c) Structure charts d) Cohesion

iv) The benefits of testing includes __________.

a) preventing bugs b) reducing development costs

c) improving performance d) all of the above

v) Software testing tools are the tools which are used for the ________
of software.

a) ranking b) promoting

c) debugging d) testing
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vi) _________ is an artificial and informal language that helps
programmers develop algorithms.

a) Pseudocode b) Visual Basic

c) Dracle d) Windows

B) Match the following : [5]

i) Decision table a) Selenium

ii) Data flow diagrams b) Entity Relationship Diagram

iii) Screen design c) Tabular representation of
decision making process

iv) ERD d) Graphical representation of
symbols

v) Software testing tool e) Graphic design of user
interfaces

Q2) Short Notes (Any 2 out of 4) : [10]

a) Screen layout designing

b) Data dictionary

c) Types of coupling

d) Fact finding techniques

Q3) a) Explain Decision tree and Decision table. [8]

b) Define software testing explain black box and white box testing. [7]

Q4) a) Explain Data flow diagram in detail. [8]

b) Explain why validation is important in software testing. [7]


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Q1) A) Fill in the Blanks. [5]
a) Which AI technique enables the computers to understand the

assoclations and relationships between objects and events?
i) Cognitive Science ii) Pattern Matching
iii) Relative Symbolism iv) Heuristic Processing

b) _______ model is used when people have similar interest.
i) Hybrid ii) Community
iii) Software as a Service iv) Private

c) IoT enables companies to ____________ and reduce labor costs.
i) start process ii) stop process
iii) automate processes iv) control process

d) _________ augments your surroundings by adding digital elements
to a live view, often by using the camera on a smartphone.
i) VR ii) CR
iii) ER iv) AR

e) Which of the following is not an advantage of cloud.
i) Easier to maintain a cloud network
ii) Paying only for what you use
iii) No worries about running out of storage
iv) Immediate access to computing resources

P.T.O.
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B) Match the Pairs [5]

a) PaaS i) Virtual Reality

b) Smart City ii) Fully Secure

c) 3D Experience iii) IoT Application

d) Amazon Web Service iv) Cloud Computing Model

e) Private Cloud v) Intranet

Q2) Write short note on the following (Any two) [10]

a) Characteristics of Computing

b) Features of IoT

c) Artificial Intelligence

Q3) Answer the following (Any four) [20]

a) What do you understand by Augmented Reality?

b) What is IoT? Explain. .

c) Explain briefly Cloud Computing Models.

d) What are the advantages of IoT?

e) Explain any two applications of Cloud Computing.

Q4) Answer the following Question (Any one) [10]

a) What are the Applications of Artificial Intelligence in business? Explain.

b) What is Virtual Reality? Explain briefly the applications of VR.


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Q1) A) Fill in the Blanks. [5]
a) The sales management includes

i) Control ii) Communication
iii) MBA Degree iv) Control and communication

b) It involves determination of sales force and assigning responsibilities
i) CEO ii) Cost Management
iii) Sales Management iv) Marketing Management

c) In SWOT analysis ‘O’ stands for
i) Opposite ii) Odd
iii) Opportunity iv) Order

d) It is practice of following some social rules and norms for uplifiment
of society.
i) Branding
ii) Packaging
iii) Corporate Social Responsibility
iv) CPM

e) Creating good image of company is the Prime responsibility of _______
i) Sales Manager ii) CEO
iii) Marketing Manager iv) Finance Manager

P.T.O.
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B) Match the Pairs : [5]

a) Identification of sales strategy i) Analysis of sales

b) Compensation of sales force ii) Set of strategies

c) Sales Planning iii) Expected sales

d) Sales Quota iv) Duty of sales manager

e) Sales audit v) Salary plus Commission

Q2) Write short notes on : (any two) [10]

a) Sales audit

b) new trends in retail sales

c) Corporate social Responsibility

d) Need and importance of CRM

Q3) Answer the following : (Any four) [20]

a) Emerging trends in CRM

b) Ethical issues in sales management

c) Sales Quota and Sales territory

d) Sales planning

e) Need of sales management

f) Need of Warehousing

Q4) Answer the following Question : (Any one) [10]

a) What are the different qualities required for sales manager?

b) Write detail note on Event Management vs sales management.


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Q1) A) Choose the correct answer (Any Five) [5]
a) What is the rate of duty drawback if the goods are exported without

use?
i) 90% ii) 95%
iii) 98% iv) 100%

b) No interest is payable if warehousing goods are stored less than
______days.
i) 90 days ii) 80 days
iii) 100 days iv) 60days

c) The period of limitation for claiming customs duty refund is______
i) 6 months from the date of import/export
ii) 6 months from the date of payment of duty and interest
iii) One year from the date of import/export
iv) One year from the date of payment of duty and interest

d) Time limit to file memorandum of cross-objections before Tribunal
is _______
i) 30 days ii) 45 days
iii) 90 days iv) 120 days

e) What is the time limit for re-exportation of goods as such u/s 74?
i) 4 years ii) 3 years
iii) 3years 6 months iv) 2 years

f) Person of Indian origin stays abroad for 36 months and returns to
India on 21-1-2022 for having residence in India, the GFA for used
household articles is ________
i) Rs. 1 lakh ii) Rs. 3 lakhs
iii) Rs. 5 lakhs iv) Rs. 7 lakhs

P.T.O.
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B) State whether the following statement is TRUE or FALSE [5]
a) General Free Allowance under Customs Act is not allowed on

unaccompanied baggage.
b) Laptop Computer brought as baggage by person above 18 years

of age is fully taxable under customs duty.
c) Time limit to file memorandum of cross-objections before Tribunal

is 30 days.
d) Recovery of tax from buyers is not an essential condition for levy

of indirect taxes.
e) The duty drawback rate shall not exceed 33% of the market price

of export goods.

Q2) Write Short Notes (Any Two) [10]
a) Non-bailable offences
b) Improper exportation of goods
c) Interest on Drawback
d) Processing of Refund Claim

Q3) Answer the following questions (Any Four) [20]
a) What are the exemptions to EOU?
b) What are the features of Foreign Trade Policy?
c) Explain the provisions regarding licensing of private warehouses?
d) What are the basic requirements for claiming duty drawback?
e) What are the various provisions in respect of interest on delayed refunds?
f) What are the stages in depositing imported goods in private bonded

warehouses?

Q4) Answer any One of the following questions [10]
a) Explain law relating to demand for payment of duty under section 28 of

the Customs Act.
b) What are the provisions in respect of confiscation of a conveyance under

section 115 of the Customs Act.


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